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Y=245 (dx=1.7e-01, do=3.2e-01)

f=1305, X=4007.9

Y=491 (dx=-1.5e-01, do=4.7e-02)

pfsArm T
= (x=4006.62, 0=1.16) 1
calExp 1
= = (x=4006.79, 0=1.48)
— Residual*s
w | Trace

pfsArm
= (x=4005.12, 0=1.16)

calExp
= (x=4004.98, 0=1.20)

e Residual*5

Y=1228 (dx=-7.8e-02, do=-4.9¢-02)

Y=1473 (dx=-7.4e-02, do=-1.6e-02)

pfsArm
(x=4003.10, 0=1.15)

calExp

= (x=4003.03, 0=1.10)
e Residual*5

w1 Trace

pfsArm
== (x=4003.10, 0=1.15)

calExp
= (x=4003.02, 0=1.14)
= Residual*5

= Trace

Y=2210 (dx=-7.0e-02, do=-2.3e-02)

Y=2456 (dx=-3.8e-02, do=-1.8e-02)

e Residual*5
w— Trace

T I pfsArm pfsArm
| ™ (x=4004.53, 0=1.16) | ™ (x=4005.52, 0=1.16)

1 calExp - 1 calExp
m—(x=4004.46, 0=1.14) m—(x=4005.48, 0=1.14)

e Residual*5
= Trace

Y=3193 (dx=-5.9e-03, do=3.1e-02)

Y=3439 (dx=6.5e-02, do=1.4e-02)

T pfsArm
| ™ (x=4010.19, 0=1.18)

| calExp
- = (x=4010.19, 0=1.21)
e Residual*5
| Trace

pfsArm
| ™ (x=4012.43,0=1.17)

| calExp
- = (x=4012.50, 0=1.19)
e Residual*5
= Trace

4000 4010 4020

4000 4010 4020

Y=736 (dx=-1.5e-01, do=-1.5e-02)

pfsArm
m—(x=4004.07, 0=1.15)

calExp
= (x=4003.92, 0=1.14)
m— Residual*s
== Trace

‘ ]

Y=1719 (dx=-1.0e-01, do=9.0e-03)

I pfsArm
| ™ (x=4003.33,0=1.15)
1 calExp

. = (x=4003.23, 0=1.16)

e Residual*5
= Trace

Y=2702 (dx=-9.8e-03, do=-8.1e-03)

pfsArm

1 = (x=4006.80, 0=1.17)
1 calExp

= (x=4006.79, 0=1.16)

e Residual*s
== Trace

Y=3684 (dx=1.7e-01, do=6.3e-02)

pfsArm
| ™ (x=4015.17, 0=1.18)
N | calExp
= (x=4015.34, 0=124)
= Residual*5
- Trace

4000 4010 4020 4030

Y=982 (dx=-1.3e-01, do=-4.4e-04)
T

pfsArm
| ™ (x=4003.39, 0=1.15)

1 calExp
= (x=4003.26, 0=1.15)

e Residual*5
== Trace

Y=1965 (dx=-3.7e-01, do=-4.0e-02)

pfsArm
1 = (x=4003.84, 0=1.15)

1 calExp
1 = (x=4003.47, 0=1.11)

e Residual*5
= Trace

Y=2947 (dx=-5.1e-02, do=-4.1e-02)
T

pfsArm
| ™ (x=4008.32, 0=1.17)
1 calExp
- = (x=4008.27, 0=1.13)

e Residual*5
== Trace

Y=3930 (dx=3.3e-01, do=8.7e-02)

pfsArm
. I = (x=4018.46, 0=1.18)

calExp
= (x=4018.79, 0=1.26)
m—Residual*s
- Trace

4010 4020 4030
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Y=245 (dx=-5.0e-02, do=1.2e-01)

f=1311, X=3970.6

Y=491 (dx=-7.3e-02, do=-1.5e-02)

pfsArm pfsArm
= (x=3969.10, 0=1.14) 1 = (x=3967.71, 0=1.15)
calExp 1 calExp
= (x=3969.05, 0=1.26) = (x=3967.64, 0=1.13)
s Residual*s m— Residual*s
- == Trace

Y=1228'(dx=-8.1e-02, do=-2.5€-02)

Y=1473 (dx=-6.2e-02, do=-2.4e-02)

e Residual*5
= Trace

pfsArm - I pfsArm
1 = (x=3965.82, 0=1.15) 1 = (x=3965.83, 0=1.15)
1 calExp 1 calExp
— (x=3965.74, 0=1.12) = (x=3965.77, 0=1.13)

1 e Residual*5
= Trace

Y=2210 (dx=-1.0e-02, do=5.7e-03)

Y=2456 (dx=-3.7e-02, do=-3.0e-02)

1 pfsArm pfsArm
| ™ (x=3967.28,0=115) | =™ (x=3968.25, 0=1.15)

1 calExp 1 calExp
= (x=3967.27, 0=1.16) = (x=3968.22, 0=1.12)

e Residual*5
w— Trace

e Residual*5
= Trace

Y=3193 (dx=2.2e-03, do=-2.2e-02)

Y=3439 (dx=4.4e-02, do=6.4e-03)

T pfsArm
- 1 = (x=3972.83, 0=1.17)

calExp

(x=3972.83, 0=1.15)
e Residual*5
| Trace

i pfsArm
| = (x=3975.03,0=1.17)

calExp

(x=3975.07, 0=1.17)
e Residual*5
= Trace

3

3960 3970 3980

3960 3970 3980 3990

Y=736 (dx=-1.5e-01, do=7.1e-03)

Y=982 (dx=-1.1e-01, do=-1.3e-02)

pfsArm pfsArm
1 = (x=3966.72, 0=1.15) | = (x=3966.09, 0=1.14)
calExp 1 calExp
= (x=3966.57, 0=1.16) = (x=3965.97, 0=1.13)
T m— Residual*s I m— Residual*s

== Trace

- == Trace

Y=1719 (dx=-5.3e-02, do=1.8e-02)

fsArm
= (x=3966.08, 0=1.15)
calExp
= (x=3966.03, 0=1.17)
= Residual*5
= Trace

Y=2702 (dx=-9.2e-03, do=-2.4e-02)

pfsArm

| ™ (x=3969.47, 0=1.16)
1 calExp

= (x=3969.46, 0=1.13)

e Residual*s
- == Trace

1
Y=3684 (dx=1.6e-01, do=2.9e-02)
T pfsArm
1 —(x=3977.71, 0=1.17)

calExp
= (x=3977.88, 0=1.20)
e Residual*s
= Trace

3970 3980 3990

Y=1965 (dx=-4.5e-02, do=-2.4e-03)

I fsArm
| ™ (x=3966.55, 0=1.15)

1 calExp
= (x=3966.50, 0=1.15)
e Residual*5
== Trace

Y=2947 (dx=1.1e-02, do=-1.7e-02)

pfsArm
| ™ (x=3970.99, 0=1.16)
1 calExp
— (x=3971.01, 0=1.15)
e Residual*5
== Trace

1

Y=3930 (dx=2.6e-01, do=1.5e-01)
T pfsArm
1 m—(x=3980.95, 0=1.17)
| = (cxa‘:E;;sl.zo, 0=1.31)

e Residual*5
== Trace

3970 3980 3990
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Ak Tl

A
¥

Y=245 (dx=-1.6e-01, do=-8.9e-02)

f=1322, X=3901.5

Y=491 (dx=9.0e-02, do=-2.2e-02)

pfsArm T
= (x=3899.56, 0=1.76) -

calExp
= (x=3899.39, 0=1.67)
— Residual*s

pfsArm

= (x=3896.95, 0=2.02)
calExp

- (x= 3897 04, 0=2.00)

e Residual*5

|
I
I
l w Trace
|
1

Y=1228 (dx=-1.8e-03, do=-1.8e-01)

pfsArm
| ™ (x=3896.75,0=1.64)

calExp
= (x=3896.75, 0=1.45)
= Residual*5

= Trace

pfsArm
| ™ (x=3896.80, 0=1.62)

pﬁ.,

calExp
= (x=3896.70, 0=1.52)
= Residual*5

= Trace

= Trace

T
Y=2210 (dx=2.1e-02 do—-4 9e- 02) Y=2456 dx 6.5e- 02 do=-3.2e- 02)
T pfsArm B I pfsArm
| ™ (x=3897.61,0=1.91) | ™ (x=3898.65, 0=1.87)
1 calExp 1 calExp
= (x=3897.63, 0=1.86) = (x=3898.72, 0=1.84)
I = Residual*5 T == Residual*5

== Trace

Y=3439 (dx=-6.9e-02, do=-7.0e-02)

T T pfsArm T = I pfsarm
1 = (x=3903.74, 0=1.54) 1 = (x=3905.82, 0=1.56)

| calExp calExp
= (x=3903.76, 0=1.43) = (x=3905.75, 0=1.49)

e Residual*5
| Trace

e Residual*5
= Trace

3890 3900 3910

3920 3890

3900 3910 3920

Y=736 (dx=-1.1e-01, do=-2.0e-01)

T pfsArm
1 = (x=3897.61, 0=1.64)

calExp
= (x=3897.50, 0=1.44)
m— Residual*s
== Trace

e

i
| I

Y=1719 (dx=5.9e-02, do=-6.3e-02)

pfsArm
= (x=3896.79, 0=1.75)

calExp
= (x=3896.85, 0=1.69)
= Residual*5

== Trace

Y=2702 (dx=4.3e-02, do=-1.9e-02)

pfsArm
= (x=3899.38, 0=2.02)

calExp

(x=3899.42, 0=2.00)
e Residual*s
== Trace

1

-

Y=3684 (dx=-4.1e-01, do=9.3e-02)

T pfsArm
| = (x=3907.70, 0=1.89)

calExp
= (x=3907.29, 0=1.98)
e Residual*s
= Trace

it

3900 3910 3920

Y=982 (dx=1.7e-01, do=-6.8e-02)

pfsArm
| ™ x=3896.69, 0=176)
calExp
_(x= 3896 86, 0=1.69)
m—_Residual*5
== Trace

N

Y=1965 (dx=-9.1e-02, do=-6.8e-02)

1

pfsArm

1 = (x=3897.70, 0=1.57)
calExp

= (x=3897.61, 0=1.51)

e Residual*5

= Trace

i

Y=2947 (dx=4.0e-02, do=-7.9e-02)

pfsArm
| ™ (x=3901.81 0=163)

calExp
= (x=3901.85, 0=1.55)
e Residual*5

- Trace

Y=3930 (dx=1.7e+00, d0=|1.0e-01)

pfsArm
= (x=3910.62, 0=1.97)

calExp

(x=3912.32, 0=2.07)
m—_ Residual*5
== Trace

1
3910

3900 3920



f=1323, X=3895.3
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Y=245 (dx=-4.5e-02, do=2.4e-02)

f=1323, X=3895.3

Y=491 (dx=-9.8e-02, do=2.4e-02)

1 = (x=3893.85, 0=1.17)
s Residual*5
= Trace

T pfsArm T pfsArm
| = (x=3893.89, 0=1.15) | = x=3892.63,0=1.14)
calExp 1 calExp

= (x=3892.53, 0=1.17)
m— Residual*s
== Trace

Y=1228 (dx=-5.4e-02, do=-2.2e-02)

Y=1473 (dx=-1.3e-02, do=-5.2e-03)

m—— Residual*5
= Trace

T fsArm - T pfsArm
1 = (x=3891.02, 0=1.15) 1 = (x=3891.06, 0=1.15)
1 calExp 1 calExp

7 = (x=3890.97, 0=1.12) = (x=3891.05, 0=1.14)

m—— Residual*5
= Trace

Y=2210 (dx=4.5e-03, do=-1.6e-02)

Y=2456 (dx=1.3e-02, do=-2.0e-02)

Y=736 (dx=-9.2e-02, do=-8.6e-03)

T pfsArm
| ™ x=389174,0=115)

1 calExp
= (x=3891.65, 0=1.14)

m—— Residual*5
== Trace

Y=1719 (dx=-1.7e-02, do=-2.4e-02)

pfsArm
| ™ (x=3891.32,0=1.14)

1 calExp
= (x=3891.30, 0=1.12)

e Residual*5

== Trace

m—— Residual*5
w— Trace

I pfsArm pfsArm
| = (x=3892.51,0=1.15) | ™ (x=3893.45,0=1.15)
1 calExp 1 calExp

= (x=3892.52, 0=1.13) = (x=3893.47, 0=113)

m— Residual*5
= Trace

Y=2702 (dx=3.8e-03, do=-3.4e-02)

Y=3193 (dx=5.2e-03, do=-3.5e-03)

Y=3439 (dx=2.8e-04, do=2.3e-03)

I pfsArm
| ™ (x=3894.62, 0=1.15)
1 calExp

= (x=3894.63, 0=1.12)

m——Residual*5
== Trace

T pfsArm
| ™ (x=3897.80, 0=1.15)

| calExp

(x=3897.81, 0=1.15)
e Residual*5
-1 | Trace

T pfsArm
| = (x=3899.91, 0=1.15)

| calExp

(x=3899.91, 0=1.15)
m— Residual*5
= Trace

Y=3684 (dx=1.5e-02, do=4.4e-02)

pfsArm
| ™ (x=3902.48, 0=1.15)

calExp
= (x=3902.49, 0=1.20)
m—Residual*5
- Trace

3890 3900 3910

3890 3900 3910

3890 3900 3910

Y=982 (dx=-6.0e-02, do=-1.8e-02)

pfsArm
| ™ (x=389123,0=114)

1 calExp
= (x=3891.17, 0=1.13)

= Residual*5
== Trace

Y=1965 (dx=-1.8e-02, do=-1.3e-02)

pfsArm
| = (x=389179, 0=1.15)

1 calExp
— (x=3891.77, 0=1.13)

m—Residual*5

== Trace

Y=2947 (dx=-1.9e-02, do=-1.2e-02)

I pfsArm
1 = (x=3896.09, 0=1.15)
1 calExp

(x=3896.07, 0=1.14)
m——Residual*5
- == Trace

1
Y=3930 (dx=1.2e-01, do=7.0e-02)

pfsArm
= (x=3905.57, 0=1.15)

calExp
= (x=3905.69, 0=1.22)
—| === Residual*5
= Trace

3890 3900 3910 3920
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Y=245 (dx=1.6e+00, do=-8.7e-01)

f=1324, X=3889.0

Y=491 (dx=4.4e-01, do=-4.1e-02)

pfsArm
=== (x=3887.59, 0=2.64)

calExp
= = (x=3889.21, 0=1.77)

Residual*5
Trace

i

pfsArm

= (x=3886.74, 0=2.14)

calExp
= (x=3887.18, 0=2.10)
m—— Residual*5

== Trace

IJJ"I:

I - I u
I T _

[
Y=1228 (dx=3.5e-02, do=2.2e-02) Y=1473 (dx=9.0e-02, do=-9.3e-03)

¢

m—(x=3884.83, 0=1.98)
e Residual*5
= Trace

151

o

L | T O T g C
1 J
1 1
1 pfsArm pfsArm
1 = (x=3884.79, 0=1.95) = (x=3884.74, 0=2.07)
calExp calExp

m—(x=3884.83, 0=2.06)
e Residual*5
== Trace

fi-fr

Y=2210 (dx=1.0e-01, do=-1.5e-01)

Y= 2456 (dx=8.9e-02, d0=-1.8e-01)I

J

pfsArm
= (x=3886.79, 0=2.05)

calExp
= (x=3886.89, 0=1.90)

e Residual*5

= Trace

pfsArm
calExj

e Residual*5
w— Trace

p
= (x=3887.95, 0=

= (x=3887.86, 0=2.05)

1.88)

If

Y=3193 (dx=2.0e-01,

do=-1.3e- 01

Y=3439 (dx

=1.8e-01, do=-9.0e-02)

A
1

pfsArm
m—(x=3891.62, 0=2.08)

calExp
= (x=3891.82, 0=1.95)
m— Residual*5
= Trace

AT

pfsArm
= (x=3893.50, 0=2.21)

calExp
= (x=3893.68, 0=2.12)
mem Residual*s
= Trace

I

3880

3890

3900

3880

3890

3900

Y=736 (dx=5.4e-01, do=-2.9e-01)

e

I |

- (x 3885 65, 0=2.05)

- (x=3886419, 0=176)
= Residual*5

i

== Trace
Y=1719 (dx 2.6e- 01 do=-3.2e-01)
fsArm T L1
= (x=3885.95, 0=2.06) 1
calExp 1
= (x=3886.21, 0=174)
= Residual*5 I
| = Trace 1
| n i |
T T 1 T T
Y=2702 (dx=-6.0e-02, do=-1.7e-01)
pfsArm I
= (x=3888.77, 0=2.08) 1
— alixp 1 H-'
(x=3888.71, 0=1.91)
| == Residual*5 I
- Trace ]
| ‘ | I

b

Y=3684 (dx—3 6e- 01 do=-4.3e- 01)

P |

pfsArm
= (x=3896.85, 0=2.07)
calExp
= (x=3897.21, 0=1.64)
= Residual*s
= Trace

Tt

3880

3890

3900

3910

Y=982 (dx=5.9e-02, do=-1.7e-01)

-

pfsArm ] T
= (x=3886.02, 0=2.05) 1
calExp 1
= (x=3886.08, 0=1.89)
7| m—Residual*s 1
w Trace l
|
=
T T T T
Y=1965 (dx=3.0e-01, do=-3.0e-01)
J T =
|
1 -
| pfsArm
1 = (x=3885.64, 0=2.07)
calExp

= (x=3885.94, 0=1.77)
e Residual*5
- Trace

Y=2947 (dx=2.6e-01, do=-1.4e-01)

™ (x 3889 60, 0=2.10)

Exp
r— (x:3889.87, 0=1.96)
e Residual*5
= Trace

Y—3930

x=-5.8e

01, do=-1.5e-01)

NQ )
T jnl-l

pfsArm
(x=3899.73, 0=2.00)
calE

xp
= (x=3899.15, 0=1.85)
= Residual*5
== Trace
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Y=245 (dx=-2.9e-01, do=-4.5e-01)

f=1405, X=3386.2

Y=491 (dx=-1.3e-01, do=-1.3e-01)

- T pfsArm
= (x=3380.96, 0=1.68)

calExp
_(x= 3380 67, 0=1.23)

e Residual*s

|
I
I
l = Trace
|
|
1

pfsArm
= (x=3381.75, 0=2.04)
calExp
- = 3381 62, 0=1.91)
—Residual*s
w | Trace

1
Y=1228 (dx=-1.2e-01, do=-1.8e-01)

Y=1473 (dx—-2 2e-01, do=-2.0e-01)

pfsArm
T = (x=3381.97, 0=2.12)
calExp
= (x=3381.86, 0=1.95)
e Residual*5
= Trace

]

fsArm
- 1x=3381.89, 0=2.10)

P

1l

calExp
= (x=3381.68, 0=1.89)
= Residual*5

= Trace

Y=2210 (dx=-2.1e-01, do=-8.5e-02)

Y=2456 (dx=-4.5e-01, do=-3.0e-01)

pfsArm
= (x=3382.13, 0=1.70)

calExp
m—(x=3381.92, 0=1.61)
= Residual*5

= == Trace

pfsArm
= (x=3383.93, 0=2.15)

calExp

(x=3383.48, 0=1.84)
e Residual*5
w— Trace

Y=3193 (dx=-2.8e-02, do=-4.1e-02)

Y=3439 (dx=-2.2e-02, do=2.1e-03)

calExp
- = (x=3389.11, 0=1.74)

pfsArm T 1 T pfsArm
= (x=3386.43, 0=1.90) 1 | = x=3386.70, 0=1.39)
calExp | | calExp
= (x=3386.40, 0=1.86) = (x=3386.68, 0=1.40)
= Residual*5 I I = Residual*5
- Trace 1 i I = Tace
i I 1
1 1
1
- - - - ——
I tl 1
1 |
T T

3380 3390 3400

3380 3390 3400

Y=736 (dx=-2.6e-01, do=-3.5e-01)

pfsArm
= (x=3382.06, 0=2.15)

calExp
- (x= 3331 80, 0=1.80)

w— Residual*s

[

Y=1719 (dx—-2 4e-01, do=-1.6e- 01)

pfsArm
— (x 3381.35, 0=1.89)

— (x=3381.11, 0=1.73)
= Residual*5
== Trace

Y=2702 (dx=-3.4e-01, do=-2.4e-01)

pfsArm
= (x=3385.03, 0=2.17)

calExp
" (x=3384.69, 0=1.93)

e Residual*5

w— Trace

i

Y=3684 (dx=-1.2e-01, do=1.2e-02)

pfsArm
= (x=3389.23, 0=1.73)

e Residual*5
= Trace

3380 3390 3400

Y=982 (dx=-1.0e-01, do=-1.9e-01)

pfsArm
= (x=3382.25, 0=2.11)

calExp
111 lx 3382 15, 0=1.92)

e Residual*s
1 = Trace

] L

Y=1965 (dx=2.8e-01, do=2.0e-01)

pfsArm
= (x=3382.50, 0=1.69)

calExp
= (x=3382.78, 0=1.89)
-1 e Residual*5

= Trace

Y=2947 (dx=-4.2e-01, do=-3.8e-01)

pfsArm
= (x=3386.01, 0=2.21)

calExp
= (x=3385.59, 0=1.83)
= Residual*5

- Trace

Y=3930 (dx=-2.8e-01, do=-9.2e-02)

pfsArm
= (x=3391.13, 0=1.66)

calExp
m— (x=3390.85, 0=1.57)
7| == Residual*s
- Trace

1
3380 3390 3400




f=1406, X=3380.1
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Y=245 (dx=3.3e-02, do=-4.2e-02)

f=1406, X=3380.1

Y=491 (dx=-1.4e-02, do=-1.9e-02)

T pfsArm
| = (x=3377.78,0=114)

1 calExp
= (x=3377.81, 0=1.10)

w— Residual*5
= Trace

pfsArm
(x=3377.30, 0=1.13)
calExp
- (x=3377.29, 0=1.11)
m— Residual*5
== Trace

T

1

Y=1228 (dx=2.1e-02, do=-3.3e-02) Y=1473 (dx=2.4e-02, do=-1.1€-02)
I fsArm I pfsArm
| = (x=3376.94,0=1.14) 1 = (x=3377.18, 0=1.13)
I r— (C;LEBXBP76.96, 0=1.11) I — (C:I=E3x;77.21, 0=1.12)

m—— Residual*5
= Trace

m—— Residual*5
= Trace

Y=736 (dx=-2.8e-02, do=-1.8e-02)

Y=982 (dx=4.4e-03, do=-3.8e-02)

pfsArm
1 = (x=3377.04, 0=1.13)
1 calExp

= (x=3377.01, 0=1.11)
—Residual*s
== Trace

T pfsArm
| ™ (x=3376.89, 0=1.14)
1 calExp
= (x=3376.89, 0=1.10)
— Residual*s
== Trace

Y=1719 (dx=3.8e-02, do=-4.2-03)

Y=1965 (dx=4.1e-02, do=4.6e-03)

pfsArm
| ™ (x=3377.50,0=113)

1 calExp
= (x=3377.54, 0=1.12)

e Residual*5

== Trace

Y=2210 (dx=5.5€-02, do=1.5e-02)

Y=2456 (dx=5.1e-02, do=-4.5€-03)

I pfsArm I pfsArm
1 = (x=3378.56, 0=1.13) 1 = (x=3379.31, 0=1.12)
1 calExp 1 calExp

= (x=3378.62, 0=1.14) = (x=3379.36, 0=1.12)

m—— Residual*5
w— Trace

m— Residual*5
= Trace

1
Y=3193 (dx=2.4e-02, do=-1.8e-02) Y=3439 (dx=3.8e-02, do=-3.1e-02)
pfsArm T pfsArm
| = (x=338242,0=1.12) | = (x=338382,0=1.12)
I r— (CEI:E;SSZAS, 0=1.10) I — (c:I:EBXEPS3 86, 0=1.09)

e Residual*5
| Trace

m— Residual*5
= Trace

3370 3380 3390

3370 3380 3390

I pfsArm

| ™ x=3377.950=113)

1 calExp
—(x=3377.99, 0=1.14)
m—Residual*5
= Trace

Y=2702 (dx=4.2e-02, do=-1.5€-02)

Y=2947 (dx=5.0e-02, do=-2.0e-02)

pfsArm
1 m—(x=3380.19, 0=1.12)

T 1 calExp
m—(x=3380.24, 0=1.11)

m——Residual*5
== Trace

pfsArm
1 = (x=3381.22, 0=1.12)
1 calExp

= (x=3381.27, 0=1.10)
e Residual*5
= Trace

Y=3684 (dx=3.5€-02, do=-5.1e-03)

Y=3930 (dx=2.9e-02, do=2.5e-02)

pfsArm
| = (x=3385.49, 0=1.12)

| calExp

= (x=3385.53, 0=1.11)
m— Residual*5

= Trace

T pfsArm

| = (x=3387.50, 0=1.12)
calExp

= (x=3387.53, 0=1.14)

m—Residual*s

== Trace

——
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f=1407, X=3373.8

e Residual*5 e Residual*5
w— Trace -] == Trace
T o e - - —I —— e

Y=3439 (dx=-4.7e-02, do=-2.9e-01) Y=3684 (dx=4.4e-02, do=-2.1e-01) Y=3930 (dx=-5.1e-01, do=-1.1e+00)

Y=245 (dx=2.1e-01, do=-5.4e-01) Y=491 (dx=7.5e-02, do=-2.1e-01) Y=736 (dx=3.2e-01, do=-2.7e-01) Y=982 (dx=2.6e-01, do=-3.4e-01)
pfsArm pfsArm T pfsArm T pfsArm
== (x=3371.58, 0=1.87) = (x=3371.60, 0=1.91) I =1 = (x=3370.92, 0=1.72) = (x=3370.60, 0=1.99)
_ calExp calExp 1 calExp _ calExp
= (x=3371.80, 0=1.33) = (x=3371.68, 0=1.71) = (x=3371.24, 0=1.45) = (x=3370.86, 0=1.65)
e Residual*5 = Residual*5 I = Residual*5 = Residual*5
= Trace 7| = Trace == Trace == Trace
1 T rI1 1 T 1 r‘ 1 T n T T T T
Y=1228 (dx=4.1e-01, do=-4.1e-01) Y=1473 (dx=1.2e-01, do=-1.1e-01) Y=1719 (dx=2.8e-01, do=-3.1e-01) Y=1965 (dx=2.1e-01, do=-2.4e-01)
pfsArm I pfsArm I - pfsArm I - pfsArm I
= (x=3370.65, 0=1.91) = (x=3370.87, 0=1.71) 1 = (x=3371.67, 0=1.91) 1 = (x=3371.89, 0=1.77) 1
— calExp — calbxp 1 — calexp 1 — calexp 1
(x=3371.05, 0=1.49) (x=3371.00, 0=1.60) (x=3371.95, 0=1.61) (x=3372.10, 0=1.53)
7| = Residual*s = === Residual*5 e Residual*5 I e Residual*5 I
w | Trace w | Trace 1= Trace 4= Trace
i ﬁ
L
. -] —— - - C -] e e e - - ] —— - - , - e e —
Ll
T T T T T T T 1 r N T
Y=2210 (dx=1.3e-01, do=-1.0e-01) Y=2456 (dx=3.2e-01, do=-3.1e-01) Y=2702 (dx=1.0e-01, do=-6.7e-02) Y=2947 (dx=3.1e-01, do=-2.0e-01)
T T T
1= F:igrzrgz.s1, 0=1.83) 1 — r;igr;3.54, 0=2.00) 1 L — F:igr;l3.81,o=1.71) 1 {)15:;3'“74 80, 0=1.75) 1
o calex 1 ~ — calixp 1 — alixp — alixp 1
(x=3372.94, 0=1.72) (x=3373.86, 0=1.68) (x=3373.92, 0=1.65) (x=3375.11, 0=1.55)
= Residual*5 I h I e Residual*5
w— Trace == Trace

=

Y=3193 (dx=1.6e-01, do=-2.4e-0

=
~

pfsArm
= (x=3381.62, 0=1.73)

calExp calExp
= (x=3379.68, 0=1.56) = (x=3381.11, 0=0.60)
e Residual*5 == Residual*5
| = Trace - Trace
. — — - - — - - e -
T n T -
1 1

3360 3370 3380 3390 3370 3380 3390 3370 3380 3390 3370 3380 3390

pfsArm pfsArm
= (x=3377.82, 0=1.76) = (x=3379.64, 0=1.77)

calExp
= (x=3377.77, 0=1.48)
= Residual*5
| == Trace

pfsArm
= (x=3376.60, 0=1.92)

sl

calExp
= (x=3376.77, 0=1.68)
= Residual*5
w— | Trace
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f=1408, X=3367.6

Y=245 (dx=8.7e-02, do=nan) Y=491 (dx=4.7e-01, do=8.7e-02) Y=736 (dx=-4.8e-03, do=3.0e-02) Y=982 (dx=-6.9e-01, do=-2.0e-01)
T T pfsArm J | | pfsArm T | | |
N = (x=3366.11, 0=1.63) _ a _ === (x=3364.46, 0=1.28) 1
_ clexp  calexp i 1
(x=3366.20, o=nan) (x 3364 45, 0=1.31)
m— Residual*5 e PFSATM = Residual*s I i, PfSATM
LI LI (x=3364.57, 0=1.47) = L bl 1 (x=3365.36, 0=1.63)
. - calExp calExp
T = = (x=3365.04, 0=1.55) 7 A | I | = (x=3364.68, 0=1.43)
m— Residual*s M = Residual*5
- Trace 1 = Trace
| -# T j | : 11 11 | r I | j I------.rr
T T T = — T l-l n T T T ﬂ T T
Y=1228 (dx—- .Oe+00, do=4.9e-02) Y=1473 (dx=-7.5e-01, do=3.2e- 01) Y=1719 (dx=-1.0e+00, do=1.9e-01) Y=1965 (dx=-7.6e-01, do=1.4e-01)
T i T DfeAm T
1 lJ- | 1 = (x23364.54, 0=1.38) 1 JJrI |
7] 1 _|J I = 5%370, 0or700 T 1
1 pfsArm - — Residual*s 1 pfsArm n pfsArm
| | 7 x=336536,0=160) — blce = (x=3366.11, 0=1.72) = (x=3365.75, 0=1.46)
- 1 T l(xal—Eaxgsa 31, 0=1.65) IJ- -|J- . 1 J— (cfle;;ES.DB,uzl.QZ) 1 ™7 f:f;§64.99, 0=1.59)
L = e J' _J' : | = e i = |
| ] 11 1k | - -- B I HE j | ] i -.-kt--k- | ] ---|*--
' (dx=-4.6e-02, do=2.0e-01) Y=2456 (dx=1. 5e-02, do=4.6e-01) Y=2702 (dx=3.3e-01, do=2.1e-01) Y=2947 (dx=2.4e-01, do=2.4e-03)
il
== (x=3368.58, 0=1.32)

calExp
= (x=3368.81, 0=1.33)
e Residual*5
= Trace

T pfsArm
= (x=3367.60, 0=1.28) -
calExp
= (x=3367.93, 0=1.48)
e Residual*5
- Trace
" =
-
ﬁ'_ i Iy i
1
T

9 (dx=-5.4e-01, do=3.3e-02) Y=3684 (dx=-4.3e-01, do=3.2e-01) Y=3930 (dx=3.9e-01, do=8.0e-01)

pfsArm . T pfsArm . T
= (x=3371.83, 0=1.53) I = (x=3372.72, 0=1.43) I
calExp calExp
= (x=3371.28, 0=1.56) = (x=337229, 0=1.74)
fuuf e Residual*s 1 e Residual*s T pfsf;:?;;s 83, 0=1.29.
= Trace [ M = Tace n (x= i
™ = calExp
J- = (x=3375.21, 0=2.10)
- 1 wm—_Residual*5
- Trace = Trace
] il E
- s

i) () U (R

3360 3370 3380 3360 3370 3380 3360 3370 3380 3360 3370 3380 3390

L
Y=3193 (dx=-2.6e-01, do=4.2e-01)

pfsArm

= (x=3369.73, 0=1.37) N

calExp
= (x=3369.47, 0=1.79)

e Residual*5

qt—

pfsArm _
== (x=3366.57, 0=1.53)
calExp
= (x=3366.52, 0=1.73) .
e Residual*5 pfsArm
= (x=3366.70, 0=1.31)
- Trace
= calExp
= (x=3366.72, 0=1.77) a
= Residual*5
l w— Trace
I S B L2l ¥ _H__l_ | Ml
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Y=245 (dx=-4.9e-02, do=7.5e-02)

f=1457, X=3064.4

Y=491 (dx=2.0e-02, do=-4.8e-02)

Y=736 (dx=2.4e-02, do=-6.1e-02)

Y=982 (dx=7.2e-02, do=-1.3e-02)

T pfsArm
| ™ (x=3061.66,0=1.12)

1 calExp
= (x=3061.69, 0=1.05)

= Residual*5
== Trace

T pfsArm
| ™ (x=306171, 0=1.12)

1 calExp
= (x=3061.78, 0=1.10)

e Residual*5
== Trace

Y=1719 (dx=6.7e-02, do=9.6e-03)

Y=1965 (dx=6.3e-02, do=1.5e-02)

N T pfsArm pfsArm T
| ™ (x=3061.91,0=1.12) — (x=3061.73, 0=1.12) 1
calExp calExp 1 oy
= (x=3061.86, 0=1.19) = (x=3061.75, 0=1.07)
T — Residual*s — Residual*5
= Trace w | Trace
T |
T T T T T 1 T
Y=1228 (dx=4.7e-02, do=4.5e-03) Y=1473 (dx=6.5e-02, do=1.7e-02)
I pfsArm I pfsArm
| = x=3061.86,0=1.12) 1 = (x=3062.15, 0=1.11)
1 calExp 1 calExp
= (x=3061.90, 0=1.12) = (x=306221, 0=1.13)

e Residual*5
= Trace

e Residual*5
= Trace

pfsArm
| ™ (x=3062.48,0=1.11)
calExp
= (x=3062.54, 0=1.12)
= Residual*5
= Trace

pfsArm
| ™ (x=3062.89, 0=1.11)

1 calExp
= (x=3062.96, 0=1.13)

e Residual*5

== Trace

Y=2210 (dx=5.8e-02, do=7.4e-03)

Y=2456 (dx=4.4e-02, do=-5.5€-03)

Y=2702 (dx=7.8e-02, do=-1.4e-02)

Y=2947 (dx=4.7e-02, do=-1.5e-02)

pfsArm pfsArm

| ™ (x=3063.44, 0=1.11) 1 = (x=3064.09, 0=1.10)
1 calExp 1 calExp

= (x=3063.50, 0=1.11) = (x=3064.13, 0=1.10)

e Residual*5
w— Trace

e Residual*5
= Trace

pfsArm

| ™ (x=3064.78, 0=1.11)
1 calExp

= (x=3064.86, 0=1.09)

e Residual*s
== Trace

pfsArm

| ™ (x=3065.63, 0=1.10)
1 calExp

= (x=3065.68, 0=1.09)

e Residual*5
== Trace

Y=3930 (dx=3.3e-02, do=4.0e-02)

e Residual*5
| Trace

1
Y=3193 (dx=8.2e-02, do=-2.6e-02) Y=3439 (dx=5.3e-02, do=-2.7e-02)
T pfsArm T pfsArm
| ™ (x=3066.59, 0=1.10) | ™ (x=3067.69, 0=1.10)
] I r— (CEI:E;(?EG.EI 0=1.07) I — (c:I:E;gE7 74, 0=1.08)

e Residual*5
= Trace

1

Y=3684 (dx=2.1e-02, do=-2.0e-02)
T pfsArm
| ™ (x=3068.95, 0=1.11)
I — (cfle;opss.w, 0=1.09)

e Residual*s
= Trace

pfsArm
| ™ (x=3070.47, 0=1.10)

calExp
= (x=3070.50, 0=1.14)
m—Residual*5
- Trace
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f=1482, X=2910.1

Y=245 (dx=-4.9e-01, do=8.1e-02) Y=491 (dx=6.1e-01, do=8.5e-03) Y=736 (dx=2.3e-02, do=-3.3e-01) Y=982 (dx=8.9e-01, do=2.8e-01)
pfsArm T | | | | T pfsArm
= (x=2906.39, 0=1.73) = (x=2905.90, 0=1.77)
calExp = 1y calExp
= (x=2907.00, 0=1.74) i i = (x=2906.79, 0=2.05)
— 350,19, 0=178) L 1= .';:c‘:”a‘*s — D 3006.17, 0=175) T 1] —I ':;ﬂgual*s
H f:fzxgpos,m, 0=186) 1= (Cxafzxgos.zo, 0=1.42) 1
= Residual*5 _-[ . == Residual*5
- Trace - Trace
| k rr r il | - | 1 1 +IJ k f | [
Y=1228 (dx=1.1e+00, do=1.0e-02) Y=1473 (dx=9.1e-01, do=3.1e-01) =1719 (dx=4.8e-01, do=1.3e-01) Y=1965 (dx=3.6e-01, do=5.6e-02)
T — T — T -
! H|=— r;iAr;&s.m, 0=1.85) ] 1 T ?:igr$)7.05, 0=171) ] j— ?:12;"67.12,0=1.88) I | {):sjzgt‘nos, 0=1.85)
= lcflfzxgorza 0=1.86) 1! = ffLE;;o7.93, 0=2.02) = (C:szgpw.so, 0=2.01) 7 I |— (?3507.44, 0=1.91)
I e Residual*5 I == Residual*5 = Residual*5 I e Residual*5
I||= Tace 1 - Trace U - Trace | = Ttace
1 1 o |
F J T T T 1 T T T T T T
Y=2210 (dx=1.2e-01, do=9.6e-02) Y=2456 (dx=8.2e-01, do=-3.0e-02) Y=2702 (dx=7.6e-01, do=2.2e-01) Y=2947 (dx=1.3e-01, do=-1.2e-01)
4 I pfsArm T - T pfsArm I pfsArm pfsArm
1 = (x=2908.34, 0=1.78) | ™ (x=2908.29, 0=1.89) 1 = (x=2908.87, 0=1.74) = (x=2910.20, 0=1.80)
I |— fffzxspos.éts, 0=187) i I — (c:I=E2prOQ.11,u=1.86) i I = (C:LE;;og.sz. 0=1.96) 1 — (C:‘:E;gploaa, 0=1.68)
E I = Residual*5 = Residual*5 I == Residual*5 = Residual*5
- Trace - Trace ] - Trace - Trace
_ i _ - _
1 1
Y=3193 (dx=6.0e-01, do=-6.3e-02) Y=3439 (dx=6.1e-01, do=1.2e-01) Y=3684 (dx=3.4e-01, do=-1.2e-02) Y=3930 (dx=1.1e+00, do=1.2e-01)
pfsArm T ] T pfsArm T L 1 pfsArm
= (x=2910.91, 0=1.79) 1 - ) 1 = (x=2912.21, 0=1.70) _ = (x=2914.41, 0=1.73)
— ff‘:szgu.sL 0=1.72) 1 = 1 = (cflezxgplz.sz, 0=1.82) 7 - 'L — (cf‘:szgpw.sz, 0=1.85)
s Residual*s 1 L 1 m—Residual*s  PPSATM B L —Residual*s
— Foce LI (x=2913.50, 0=1.67) 1 i -
‘.LL 1 T 'L 1= (cflfxgpu.m, 0=1.66) 1
- s Residual*s L
== Trace
T T
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Y=245 (dx=2.4e-01, do=2.4e-01)

f=1483, X=2903.9

Y=491 (dx=-3.0e-01, do=-3.1e-01)

pfsArm
= (x=2900.25, 0=1.96)
calExp
= (x=2900.49, 0=2.20)
e Residual*s
= Trace

£

T pfsArm
| ™ (x=2900.02, 0=2.04)
1 calExp

- (x=2899.72, 0=1.73)
I Resiquars
|
|
|

== Trace

-

Y=1228 (dx=-3.2e-01, do=-2.8e-01)

Y=1473 (dx=-1.9e-01, do=-1.7e-01)

! f

pfsArm
(x=2899.71, 0=1.97)

calExp
— (x=2899.40, 0=1.69)
= Residual*5

= Trace

J

M n

pfsArm
= (x=2899.14, 0=176)

calExp
— (x=2898.96, 0=1.59)
= Residual*5

= Trace

Y=2210 (dx=-5.6e-02, do=-1.1e-01)

Y=2456 (dx=-2.8e-01, do=-1.9e-01)

pfsArm
= (x=2902.26, 0=2.04)

calExp
m—(x=2902.20, 0=1.93)
e Residual*5

w— Trace

]
C

=t

I

pfsArm
= (x=2901.57, 0=1.95)

calExp
m— (x=2901.30, 0=1.75)
e Residual*5

= Trace

;

Y=3193 (dx=-1.8e-01, do=-1.6e-01)

Y=3439 (dx=-5.2e-02, do=-1.7e-02)

pfsArm

= (x=2903.00, 0=1.70)
calExp

= (x=2902.82, 0=1.53)

= Residual*5

T
1
|
|
I = Tace
1
1
1

Tt

pfsArm
= (x=2904.12, 0=1.77)

calExp
= (x=2904.07, 0=1.75)
= Residual*5
- Trace

e
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2910 2920

Y=736 (dx=-1.6e-01, do=-7.2e-02)

pfsArm
= (x=2900.14, 0=2.01)
calExp
= (x=2899.98, 0=1.94)
— Residual*s
== Trace

Y=1719 (dx=-1.9e-01, do=-1.6e-01)

T pfsArm
1 = (x=2901.16, 0=2.04)
1 calExp

= (x=2900.98, 0=1.89)
I e Residual*5
1
1
1

w Trace

‘

Y=2702 (dx=-1.4e-01, do=-1.4e-01)

pfsArm
= (x=2903.10, 0=2.03)

calExp
= (x=2902.97, 0=1.89)

e Residual*s

Y=3684 (dx=-4.1e-02, do=-1.5e-01)

pfsArm
= (x=2907.38, 0=1.99)

calExp
= (x=2907.34, 0=1.84)
e Residual*s
w Trace

Ak

2900 2910 2920

Y=982 (dx=-7.7e-03, do=-9.3e-02)

pfsArm
= (x=2899.99, 0=2.01)

T

|

1 calExp
= (x=2899.98, 0=1.92)

I Residuars

l w Trace

1

=TI

Y=1965 (dx=-2.1e-01, do=-8.0e-02)

= I pfsArm
I ™ (x=2900.64, 0=1.96)
1 calExp
= (x=2900.42, 0=1.88)
T I e Residual*5
1 - Trace
|
7] |
1
. —— o
= 1

Y=2947 (dx=6.5-02, do=-6.1e-02)

pfsArm
= (x=2904.26, 0=2.05)

calExp
= (x=2904.32, 0=1.99)

T

|

I

I e Residual*5

1 - Trace
i

1
T
1
e_

Y=3930 (dx=-3.0e-02, do=9.9e-02)

A

2900 2910

pfsArm
= (x=2908.02, 0=2.08)

calExp
= (x=2907.99, 0=2.18)
e Residual*5
= Trace
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Y=245 (dx=8.1e-02, do=1.5e-02)

f=1484, X=2897.7

Y=491 (dx=2.1e-02, do=-3.8e-03)

T pfsArm
1 = (x=2895.20, 0=1.10)

1 calExp
= (x=2895.28, 0=1.11)

w— Residual*5
= Trace

T pfsArm
1 = (x=2895.12, 0=1.10)

1 calExp
= (x=2895.14, 0=1.09)

m— Residual*5
== Trace

Y=736 (dx=3.8e-02, do=-1.4e-02)

T pfsArm
1 = (x=2895.13, 0=1.10)

1 calExp
= (x=2895.17, 0=1.08)

m—— Residual*5
== Trace

Y=982 (dx=4.0e-02, do=-1.9e-02)

1 1
Y=1228 (dx=5.6e-02, do=-1.8e-02) Y=1473 (dx=5.8e-02, do=-1.1e-02)
pfsArm I fsArm
| ™ (x=2895.40, 0=1.10) | ™ (x=2895.66, 0=1.10)
I r— (C;LEZXBPQSAG, 0=1.08) I — (C:LE;B,JQSJZ, 0=1.09)

m—— Residual*5
= Trace

m—— Residual*5
= Trace

1
Y=1719 (dx=4.3e-02, do=3.5e-03)

pfsArm
1 = (x=2895.22, 0=1.10)
1 calExp
= (x=2895.26, 0=1.08)
— Residual*s
== Trace

Y=2210 (dx=6.4e-02, do=-2.1e-02)

1
Y=2456 (dx=5.8e-02, do=-5.6€-03)

fsArm

| ™ (x=2895.99, 0=1.10)

calExp
= (x=2896.04, 0=1.10)
e Residual*5

== Trace

1
Y=1965 (dx=6.9e-02, do=3.2e-03)

I pfsArm pfsArm
| = x=2896.91, 0=1.09) 1 = (x=2897.50, 0=1.09)
calExp 1 calExp
= (x=2896.97, 0=1.07) = (x=2897.56, 0=1.08)

m—— Residual*5
w— Trace

m— Residual*5
= Trace

pfsArm
| ™ (x=2896.44,0=1.09)

calExp
= (x=2896.51, 0=1.09)
m—Residual*5

== Trace

Y=3193 (dx=3.5e-02, do=-1.2e-02)

Y=3439 (dx=3.0e-02, do=-1.5e-02)

Y=2947 (dx=6.0e-02, do=1.1e-04)

T pfsArm
| ™ (x=2899.74, 0=1.09)

calExp

(x=2899.77, 0=1.07)
e Residual*5
| Trace

T pfsArm
I ™ (x=2900.70, 0=1.08)

calExp

(x=2900.73, 0=1.07)
m— Residual*5
= Trace

pfsArm
| ™ (x=2898.88, 0=1.09)
1 calExp
= (x=2898.94, 0=1.09)
e Residual*5
== Trace

1
Y=2702 (dx=6.9e-02, do=-6.5e-03)
I pfsArm
1 = (x=2898.17, 0=1.08)
calExp
m—(x=2898.24, 0=1.08)
m—— Residual*5
. = Trace
T 1 T T
Y=3684 (dx=3.9e-02, do=-1.4e-03)
T pfsArm
I ™ (x=2901.79, 0=1.09)
1 — (CEI:EZXQDOI.SI 0=1.08)

m— Residual*5
== Trace
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Y=3930 (dx=1.7e-02, do=4.2e-02)

2890 2900 2910

T pfsArm
1 = (x=2903.11, 0=1.08)

calExp
= (x=2903.12, 0=1.12)
m— Residual*5
== Trace
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Y=245 (dx=1.8e+00, do=1.7e+00)

f=1486, X=2885.4

Y=491 (dx=9.5e-01, do=9.6e-01)

Y=736 (dx=1.9e+00, do=1.6e+00)

T pfsArm
[ | = (x=2879.48, 0=0.50)

calExp
- (x= 2881 27, 0=2.21)

wem Residual*s
== Trace

A |

— (x 2879 49, 0=0.50)

™ (x=zsao,44, 0=1.46)
s Residual*5
== Trace

|

!
] __|..._

dx=-1.2e-01, do=-9.1e-01)

Y=1473 (dx=3.2e-

1, do=-4.6e-01)

1IL'

|
|
1
-|1-r | = Residual*5
= Trace
1

7

pfsAr
= (x=2882.90, 0=3.00)

calExp
= (x=2882.79, 0=2.09)

| [T,

pfsArm
= (x=2882.27, 0=2.61)

calExp
- = (x=2882.59, 0=2.15)

e Residual*5
w— Trace

-_f___

Y=2210

(dx=3.3e-01, do=-7.3e-01)

Y=2456 dx—-3 4e-02, do=-1. 0e+00)

calExp
| ™ (x=2883.53, 0=1.86)

pfsArm
= (x=2883.20, 0=2.59)

e Residual*5
w— Trace

_r_i___

[T,

- (x 2884 72, 0=2.99)

- (X:2884.69, 0=1.96)
e Residual*5
w— | Trace

[T,

Exp
4= (x=2884.65, 0=1.97)

1 ___1.___

Y=3193 (dx=9.5e-01, do=-6.3e-01) Y=3439 (dx=4.7e-01, do=-5.0e-01)
T =
I
I -
pfsArm I pfsArm
(X 2886.08, 0=2.54) I —(x=2887.16, 0=2.57)
r— (X 2887 03, 0=1.91) u o — ‘(:le2887 63, 0=2.07)
w—— Residual*5 w—— Residual*5 L
= Trace J- l = Trace
I ----- — —
1
1

_11_7__

__r1_r__

IS

= Residual*5
== Trace
__1_+___
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2880

28
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pfsA
— (x 2879 49, 0=0.50)

— (x:zsamz, 0=212)
== Residual*5
== Trace

Y=1719 (dx=3.

pfsArm
= (x=2882.19, 0=2.58)

calExp
= (x=2882.52, 0=2.15)

e Residual*5
= Trace

(dx=2.2e+00, do=1.5e+00)

— (x 2882.48, 0=0.50)

e Residual*5
= Trace

I

r -

E_L“—L_
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e-01, dc—-4 5e- 01)

pfsArm
(>< 2888.09, 0=2.54)

— (x 2888 91, 0=2.09)
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Y=982 (dx=2.1e+00, do=1.5e+00)

pfsArm
— (x 2879.48, 0=0.50) ™|
— (x=2831‘61, 0=2.03)

e Residual*5
= Trace

-

I

K

Y=1965 (dx=-3.

8e-01, do=-1.1e+00

)

.

7
i

pfsArm
== (x=2883.94, 0=3.00)

calExp
(x=2883.56, 0=1.90)
e Residual*5

== Trace

pfsArm
= (x=2885.08, 0=2.54)

calExp
(x=2885.67, 0=1.97)

| == Residual*5 |

== Trace

I

Y=3930

dx 3.3e+00, do 1. 1e+00)

pfsArm
m—(x=2887.48, 0=0.50)

calExp

(x=2890.80, 0=1.64)
e Residual*s
== Trace
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Y=245 (dx=9.2e-02, do=-3.9e-02)

f=1488, X=2873.1

Y=491 (dx=3.3e-02, do=-1.7e-02)

T pfsArm
| ™ (x=2870.54,0=110)

1 calExp
= (x=2870.63, 0=1.06)

w— Residual*5
= Trace

T pfsArm
| ™ (x=2870.48,0=1.10)

calExp
= (x=2870.51, 0=1.08)

m— Residual*5
== Trace

m—— Residual*5
= Trace

1
Y=1228 (dx=3.8e-02, do=-2.1e-02) Y=1473 (dx=4.7e-02, do=-4.6e-03)
T I fsArm I pfsArm
| ™ (x=2870.78, 0=1.10) 1 = (x=2871.09, 0=1.09)
I = (C:LEZXBP70,SZ, 0=1.08) I — (C:I=EZXBP71‘13, 0=1.09)

m—— Residual*5
= Trace

m—— Residual*5
w— Trace

1 1
Y=2210 (dx=7.4€-02, do=-1.6e-02) Y=2456 (dx=7.0e-02, do=-1.9e-02)
pfsArm I pfsArm
1 = (x=2872.33, 0=1.08) | = (x=2872.87,0=1.09)
I r— ((55572.40, 0=1.07) I r— ((:LE;SU 94, 0=1.08)

m— Residual*5
= Trace

Y=736 (dx=4.5e-02, do=-1.4e-02)

Y=982 (dx=3.0e-02, do=-2.1e-02)

T pfsArm
| ™ (x=2870.49, 0=1.10)
1 calExp
= (x=2870.54, 0=1.08)
—Residual*s
== Trace

T pfsArm
| ™ (x=2870.60, 0=1.10)

1 calExp
= (x=2870.63, 0=1.08)

= Residual*5
== Trace

Y=1719 (dx=4.1e-02, do=2.8e-03)

Y=1965 (dx=5.4e-02, do=1.1e-02)

pfsArm
| ™ (x=2871.42,0=1.09)

calExp
= (x=2871.46, 0=1.09)
e Residual*5

== Trace

pfsArm
| ™ x=2871.82,0=110)
1 calExp
= (x=2871.87, 0=1.11)
m—Residual*5
= Trace

Y=2702 (dx=5.0e-02, do=-1.5e-02)

pfsArm

| ™ (x=2873.53,0=1.08)
1 calExp

m—(x=2873.58, 0=1.07)

m——Residual*5

Y=3193 (dx=4.9e-02, do=-1.0e-02)

Y=3439 (dx=4.0e-02, do=-1.1e-02)

pfsArm
1 = (x=2875.11, 0=1.08)

calExp

(x=2875.16, 0=1.07)
e Residual*5
- | Trace

T pfsArm
1 = (x=2876.05, 0=1.08)

calExp

(x=2876.09, 0=1.07)
m— Residual*5
= Trace

T
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2890 2860 2870 2880 2890

1

Y=2947 (dx=3.7e-02, do=-7.3e-03)
I pfsArm
1 = (x=2874.27, 0=1.08)
1 e (?3574.31, 0=1.07)

m——Residual*5
== Trace

-02, do=4.7e-03)

Y=3930 (dx=1.6e-02, do=5.0e-02)

pfsArm
= (x=2877.12, 0=1.08)

calExp
= (x=2877.16, 0=1.08)
m— Residual*5
= Trace

pfsArm
| ™ (x=2878.37,0=1.08)

| calExp

(x=2878.39, 0=1.13)
m— Residual*5
== Trace
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Y=245 (dx=-2.5e-02, do=-2.0e-01)

f=1489, X=2866.9

Y=491 (dx=1.4e-01, do=-1.8e-02)

= (x=2864.44, 0=1.26)
w— Residual*s
= Trace

pfsArm T . T pfsArm
= (x=2864.46, 0=1.45) 1 = (x=2864.45, 0=1.58)
calExp

1 calExp
== (x=2864.60, 0=1.56)

we—_ Residual*5
== Trace

i

1
Y=1473 (dx=-1.1e-02, do=8.4e-03)

e Residual*5
- Trace

e

I pfsArm I pfsArm
I = (x=2864.59, 0=1.59) | = (x=2864.83, 0=148)
calExp 1 calExp
= (x=2864.77, 0=1.38) . = (x=2864.82, 0=1.49)

mem Residual*5
= Trace

pfsArm I
= (x 2865.42, 0=1.56) 1
- (x=2565,54, 0=1.43)
—| === Residual*5

Y=2210 (dx=1.2e-01, do=-8.1e-02)

Y=2456 (dx= 2.2e- 01, do=-3.1e- 01)

pfsArm

= (x=2866.36, 0=1.56) 1
calExp

= (x=2866.48, 0=1.48)

| e Residual*5
= Trace

T pfsArm
| = (x=2866.60, 0=1.60)
calExp
= (x=2866.82, 0=1.29)
e Residual*5

j

e Residual*5

nJa
Y=3193 (dx=-6.3e-03, do=-7.8e-02) Y=3439 (dx=-2.4e-02, do=1.3e-02)
T pfsArm T pfsArm
| = (x=2868.82, 0=1.46) | = (x=2869.80, 0=1.42)
I - (c:fz)(gss.81, 0=1.38) I _— (c:I:EZXSpGQ.W,a:lAM
4 e Residual*5

= Trace

il
i I '?-ﬁ -

== Trace

2860 2870 2880

2860 2870 2880

Y=736 (dx=2.4e-02, do=-1.7e-01)

pfsArm

= (x=2864.47, 0=1.59)
calExp

= (x=2864.50, 0=1.41)

wm— Residual*s

| == Trace

Y=1719 (dx=1.2e-01, do=-1.3e-01)

w— Trace

1 calExp

- = (x=2865.68, 0=1.46)
e Residual*5
= Trace

==--1-+---
e n l'I
Y=2702 (dx 8.0e-02, do=-2 e-01)

pfsArm
| = (x=2867.46, 0=157)

calExp

(x=2867.54, 0=1.36)
e Residual*5
= Trace

Y=3684 (dx=-4.1e-02, do=-2.5€-02)

Y=982 (dx=9.2e-02, do=-1.5e-01)

pfsArm T
= (x=2864.51, 0=1.57)

calExp
= (x=2864.60, 0=1.42)

e Residual*5

Y=1965 (dx=9.0e-02, do=-1.4e-01)

fsArm
| = (x=2865.59, 0=1.60)

pfsArm

= (x=2868.33, 0=1.57)
calExp

= (x=2868.29, 0=1.45)

e Residual*5
= Trace

T pfsArm
| = (x=2870.82, 0=145)

calExp
= (x=2870.78, 0=1.42)
e Residual*s
- Trace

Y=3930 (dx=2.0e-01, do=-1.8e-01)

2860 2870 2880

T pfsArm
1 = (x=2872.37, 0=1.58)

calExp
= (x=2872.57, 0=1.41)
m— Residual*5
- Trace

|

al
1

2860 2870 2880



f=1515, X=2706.3

calexp Residual Chi
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=245 (dx=6.3e-01, do=1.5e-01)

f=1515, X=2706.3

Y=491 (dx=4.8e-01, do=2.3e-01)

|

calExp

= Trace

pfsArm
= (x=2701.75, 0=1.83)

_(x= 2702 38, 0=1.98)

e Residual*s

pfsArm
= (x=2701.76, 0=1.86)
calExp
_x= 2702 24, 0=2.09)
— Residual*s
== Trace

]

Y=736 (dx=3.6e-02, do=-2.4e-02)

pfsArm
= (x=2701.11, 0=1.63)

calExp
= (x=2701.15, 0=1.61)

T
|
1
I Residuars
|
1

== Trace

n

Y=982 (dx=2.8e-01, do=-1.3e-01)

1 I
Y=1228 (dx=2.4e-01, do=-3.1e-02) Y=1473 (dx=4.3e-01, do=2.2e-01)
I = I pfsArm
| ™ (x=2702.56, 0=1.73)
i 1 calExp
= (x=2702.99, 0=1.94)
pfsArm I — Resiquars
= (x=2702.80, 0=1.93) ] = Trace
ol calExp I
(x=2703.04, 0=1.90) -
— Residual*s 1
= Trace
1

1
Y=1719 (dx=5.4e-02, do=4.5e-02)

T pfsArm
1 = (x=2702.91, 0=2.02)
| calExp

_(x= 2703 18, 0=1.89)
I m—_Residual*5
l = Trace

=2210 (dx=9.0e-02, do=1.5e-01)

Y=2456 (dx=6.3e-02, do=-2.5e-02)

pfsArm
= (x=2702.12, 0=1.63)

T

|

1 calExp
= (x=2702.17, 0=1.68)

I — Residuars

|

1

1

w Trace

Y=1965 (dx=3.4e-01, do=2.5e-03)

pfsArm

= (x=2703.50, 0=1.73)

calEx|

p
= (x=2703.59, 0=1.88)

= Trace

T
|
I
I e Residual*5
|
|
|

C

T
psArm 1
= (x=2704.92, 0=1.91) 1

calExp
= (x=2704.99, 0=1.89) 1
= Residual*5
= Trace

1111

i

Y=2702 (dx=1.0e-01, do=1.3e-01)

e Residual*5
= Trace

I pfsArm
| ™ (x=2703.92,0=1.93)
1 calExp
= (x=2704.27, 0=1.93)
I
1
1
|

-F-1-H e

1
3193 (dx=3.6e-01, do=-6.1e-02)

pfsArm
= (x=2704.42, 0=179)

T

|

I calExp

I (x=2704.53, 0=1.93)
e Residual*s

|

|

|

1

== Trace

Y=2947 (dx=8.9e-02, do=-4.0e-02)

T
Y= Y=3439 dx 4.5e-01, do=-9.9e- 02)
T 9 T pfsArm pfsArm T
1 = (x=2706.81, 0=2.00) = (x=2707.95, 0=1.96) 1
| calExp calExp |
= (x=2707.16, 0=1.94) = (x=2708.40, 0=1.86)
I e Residual*5 = Residual*5 I
1 - Trace | - Trace ]
1
- - -

=3684 (dx=-3.5e-02, do=4.1e-03)

~<

pfsArm
= (x=2705.93, 0=1.86)

calExp
= (x=2706.02, 0=1.82)

T
|
I
I e Residual*5
|
|

== Trace

(x 2707 13, 0=1.71)

(X:2707.10, 0=1.72)
e Residual*s

T
1
|
|
I = Tace
1
1
1

2700

2710

2720

2700 2710 2720

-HH-1-} _H:T

Y=3930 (dx=2.8e-02, do=2.0e- 01)

pfsArm
= (x=2708.00, 0=1.64)

calExp
= (x=2708.03, 0=1.83)
e Residual*s

|
|
|
I = Tace
1
1
1

2700 2710 2720

_I.:|:|_

2700 2710 2720
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Y=245 (dx=-1.4e+00, do=5.1e-01)

f=1516, X=2700.2

Y=491 (dx=1.0e-01, do=-8.3e-02)

Y=736 (dx=7.7e-02, do=-7.4e-02)

T pfsArm
| ™ (x=2697.35 0=1.46)
| calExp

_ = 2695 98, 0=1.97)
s Residual*s
= Trace

T pfsArm
| ™ (x=2697.38, 0=1.46)
1 calExp

= (x=2697.49, 0=1.38)
m— Residual*s
== Trace

T pfsArm
| ™ (x=2697.35,0=157)
1 calExp
= (x=2697.43, 0=1.49)
m—Residual*5
== Trace

1

Y=1228 (dx=3.2e-02, do=-4.0e-02) Y=1473 (dx=4.9e-02, do=-3.4€-02) Y=1719 (dx=-6.6e-03, do=2.3e-02)
T T
1 — ?;i/;rf;gs.os, 0=1.26) | - ?Ii/;rg‘ga 28, 0=1.31) J | F:i/;rgs.ag, 0=1.53)

1 calExp
— (x=2698.11, 0=1.22)

= Residual*5

= Trace

1 calExp
— (x=2698.33, 0=1.28)
= Residual*5

w— Trace

1 calExp
= (x=2698.38, 0=1.55)
= Residual*5
== Trace

Y=2702

1
= E —— 1
T 1 T T T =I 1 T T
Y=2210 (dx=6.7e-02, do=1.2e-02) Y=2456 (dx=9.7e-02, do=-4.3e-02)
T pfsArm T pfsArm
| = (x=2699.36, 0=1.40) T = (x=2700.07, 0=1.22)
calExp calExp
= (x=2699.43, 0=1.41) = (x=2700.17, 0=1.18)
= Residual*5 == Residual*5
- Trace

pfsArm
| ™ (x=2700.42, 0=1.42)

calExp
= (x=2700.44, 0=1.43)

e Residual*s
== Trace

Y=3193 (dx=1.5e-02, do=-6.6e-02)

Y=3684 (dx=-2.1e-03, do=2.3e-02)

T pfsArm
1 = (x=2702.01, 0=120)

calExp

(x=2702.03, 0=1.13)
e Residual*5
| Trace

pfsArm
| ™ (x=2702.44, 0=155)

calExp
= (x=2702.41, 0=1.60)
= Residual*5
- Trace

pfsArm
= (x=2703.45, 0=1.45)

calExp
= (x=2703.45, 0=1.47)
= Residual*5
- Trace

2690 2700 2710

2690 2700 2710

2690 2700 2710

Y=982 (dx=8.1e-04, do=-4.2e-04)

pfsArm
| ™ (x=2697.35,0=170)
calExp
= (x=2697.35, 0=1.69)
m—_Residual*5
== Trace

I pfsArm
1 = (x=2699.10, 0=123)

calExp
= (x=2699.14, 0=121)
e Residual*5

Y=2947 (dx=5.4e-02, do=-4.4e-02)

. I pfsArm
| ™ (x=270124,0=124)

1 calExp
= (x=2701.29, 0=1.19)

e Residual*5
== Trace

Y=3930 (dx=-8.8e-02, do=1.2e-01)

pfsArm
I ™ (x=2704.48, 0=1.47)

calExp
= (x=2704.39, 0=1.59)
m—Residual*s
- Trace

_I _r,—_"l

2690 2700 2710 2720



f=1517, X=2694.0

calexp Residual Chi
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Y=245 (dx=6.6e-01, do=1.5e-01)

f=1517, X=2694.0

Y=491 (dx=1.9e-02, do=-2.0e-02)

pfsArm
= (x=2691.55, 0=1.10)

calExp
= (x=2692.21, 0=1.25)

w— Residual*5
= Trace

Ek P

T pfsArm
| ™ (x=2691.58, 0=1.10)

1 calExp
= (x=2691.60, 0=1.08)

m— Residual*5
== Trace

Y=736 (dx=2.8e-02, do=-3.7e-02)

Y=982 (dx=2.7e-02, do=-2.2e-02)

T pfsArm
| ™ (x=2691.67,0=1.10)
1 calExp
= (x=2691.69, 0=1.06)
—Residual*s
== Trace

Y=1228 (dx=2.5e-02, do=-5.3e-03)

Y=1473 (dx=4.4e-02, do=-2.0e-02)

m—— Residual*5
= Trace

I pfsArm pfsArm
1 = (x=2692.07, 0=1.10) 1 = (x=2692.33, 0=1.09)
1 calExp 1 calExp

T = (x=2692.09, 0=1.09) = (x=2692.38, 0=1.07)

m—— Residual*5
= Trace

T pfsArm
| ™ x=2691.80,0=1.10)

1 calExp
= (x=2691.83, 0=1.08)

= Residual*5
== Trace

1

Y=1719 (dx=4.4e-02, do=-2.3e-02)
I fsArm
| ™ (x=2692.66, 0=1.09)
1 — (cffzxggz.m, 0=1.07)

m——Residual*5
= Trace

1
Y=1965 (dx=5.2e-02, do=-2.5e-02)
I pfsArm
1 = (x=2693.08, 0=1.09)
| — (Cffzxgga‘u,o:l‘on

m——Residual*5
= Trace

m—— Residual*5
w— Trace

m— Residual*5
= Trace

Y=3193 (dx=2.4e-02, do=-2.4e-02)

Y=3439 (dx=2.4e-02, do=3.8e-03)

T pfsArm
| ™ (x=2695.91, 0=1.09)

| calExp
- = (x=2695.93, 0=1.06)
e Residual*5
| Trace

pfsArm
| ™ (x=2696.72, 0=1.09)

| calExp

= (x=2696.74, 0=1.09)
m— Residual*s
- Trace

1 1

Y=2210 (dx=6.7e-02, do=-1.8e-02) Y=2456 (dx=6.6e-02, do=-2.2e-02) Y=2702 (dx=3.9e-02, do=-1.8e-02)
I pfsArm I pfsArm pfsArm
I = (x=269351,0=1.09) 1 = (x=2694.04, 0=1.09) | = (x=2694.58, 0=1.09)
1 — ((55593.57, 0=1.07) 1 [ ((:Lszgga 10, 0=1.07) 1 [ (c:fzxggmm, 0=1.07)

m——Residual*5
== Trace

1

Y=2947 (dx=3.3e-02, do=-1.3e-02)
I pfsArm
1 = (x=2695.23, 0=1.09)
I r— (cf‘fzxggs.zs, 0=1.07)

m——Residual*5
== Trace

Y=3684 (dx=2.9e-02, do=-8.8e-03)

Y=3930 (dx=5.7e-02, do=7.1e-03)

T pfsArm
| ™ (x=2697.62, 0=1.09)

| calExp

= (x=2697.65, 0=1.08)
m— Residual*5

= Trace

pfsArm
I ™ (x=2698.66, 0=1.09)

| calExp

(x=2698.72, 0=1.09)
m— Residual*5
== Trace
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Y=245 (dx=3.3e-01, do=-7.3e-01)

f=1518, X=2687.9

Y=491 (dx=6.3e-01, do=-5.7e-01)

pfsArm T

= (x=2685.65, 0=2.05) 1

. calExp l
—(x=2685.99, 0=1.32) |

il

aill

— (x 2685 66, 0=2.12)

— (x=2636,29, 0=1.55)
== Residual*5
= Trace

=i

Y=736 (dx=4.6e-01, do=-2.9e-01)

| = Trace

= Trace
Y=1228 (dx=-3.1e-02, do=4 8e-

Y=1473 (dx=3.3e-01, do=-3.3e-01)

pfsArm T
= (x=2685.65, 0=2.27)
calExp
— (x 2686 11, 0=1.98)

wm— Residual*s

[
02)

pfsArm
= (x=2685.88, 0=1.89)

calExp
= (x=2685.84, 0=1.94)
= Residual*5

- Trace

_H-"tj-

pfsArm
= (x=2686.76, 0=2.15)

calExp

= (x=2687.10, 0=1.82)
e Residual*5

= Trace

1
Y=1719 (dx=1.9e-01, do=-3.4e-01)

o R (x=2686.31‘0=1434)

Y=2210 (dx=1.1e-01, do=-1.9e-01)

Y=2456 (dx=-4.3e-02, do=1.7e-02)

pfsArm
— (x 2686.63, 0=2.17)

e Residual*5
= Trace

pfsArm T - !
—(x=2687.67, 0=2.14) 1 - i 1
calExp
—(x=2687.78, 0=1.95) : I
| =— Residual*s pEAm
m— (x=2687.88, 0=1.86)
- Trace 1
calExp
1 — -1 == (x=2687.84, 0=1.87)

e Residual*5
= Trace

- ___-"_r_

Y=2702 (dx=2.1e-01, do=-2.4e-01)

Y=3193 (dx=5.6e-01, do=-4.7e-01)

Y=3439 (dx=4.5e-01, do=-4.6e-01)

L

pfsArm
= (x=2688.66, 0=2.19)
calExp
= (x=2688.87, 0=1.96)
e Residual*5
= Trace

| | ] LI
I pfsArm
1 = (x=2689.44, 0=2.18)
calExp
= (x=2690.00, 0=1.71)
m—Residual*5
== Trace

|

2680 2690 2700

Al

I pfsArm
= (x=2690.60, 0=2.19)

calExp
- x= 2691 05, 0=1.73)

r ul = Residual*5

Y=3684 (dx=2.3e-01, do=-2.4e-01)

2680

2690 2700

il

pfsArm
m—(x=2691.65, 0=2.19)

calExp
1 = (x=2691.88, 0=1.95)
= Residual*5
== Trace

il I4__1_t_H_

2680 2690 2700

Y=982 (dx=4.2e-01, do=-3.3e-01)

I

pfsArm
- (x=2685.57, 0=2.15)

calExp
= (x=2685.99, 0=1.81)
= Residual*5

== Trace

11T

Y=1965 (dx 8.1e- 02 do=-3.9e- 02)

pfsArm
= (x=2686.86, 0=1.89)
calExp
= (x=2686.94, 0=1.85)
e Residual*5
== Trace

___+_r_

Y=2947 (dx=4.7e-01, do=-5.3e-01)

pfsArm
= (x=2689.81, 0=2.15)
calExp
= (x=2690.28, 0=1.63)
7| == Residual*s
== Trace

1
T
1

Y=3930 (dx=2.7e-01, do=-4.2e-01)

I

pfsArm
= (x=2692.61, 0=2.10)

calExp.
- x= 2592 87, 0=1.68)
m— Residual*s
== Trace

' -t
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Y=245 (dx=-2.3e+00, do=1.0e+00)

f=1519, X=2681.7

Y=491 (dx=1.2e-01, do=nan)

imr!

I

pfsArm
== (x=2681.18, 0=1.42)

calExp
— (x=2678.91, 0=2.46)
= Residual*5

== Trace

Y=736 (dx=-1.3e+00, do=3.9e-01)

pfsArm
(x=2680.26, 0=1.60)

calExp
= (x=2680.38, o=nan)

e Residual*s w

- Trace L .
I}
[

== Trace

Y=1228 (dx=-1.0e-01, do=6.2e-01)

Y=1473 (dx=-8.9e-01, do=2.5e-01)

pfsArm
(x=2680.61, 0=1.57)

calExp
—(x=2679.29, 0=1.96)
— Residual*s

i

Y=982 (dx=-1.5e+00, do=3.0e-01)

pfsArm
calExp

e Residual*s
== Trace

= (x=2680.46, 0=1.57)

- (x= 2678 93, 0=1.87)

ot

pfsArm
(x=2681.21, 0=1.70)

calExp
| = (x=2680.32, 0=1.95)

fsArm
— (x=2681.40, 0=1.58)

Y=1965 (dx=-3

alll

3.1e-01, do=5. 6e 01)

l

0

2670

2680

2690

T T
| |
1 calExp 1
| ™ (x=2680.84, 0=1.72)
I PfsAm m— Residual*s m— Residual*s 1 -,1 ]
(xI=E2679_65, 0=1.19) - Trace - Trace 1 1 J- - (x‘:sao 66, 0=1.19)
— (3=2679.55, 0=1.81) ] 1 i L] ] — (X=2680.34, 0=175)
- I | [== Residual*s T 1 —Residual*s
1 - Trace L- -—[ 1 == Trace
5 Iy - {1 U I B R I S - +hol— IL_LL_J4_ 4 2 =1 4500 R
" 'E T 7
1 1 I
T T T T
Y=2210 (dx=-6.9e- 01 do=2. 4e-01) Y=2456 (dx=-2.2e-01, do=5.9e-01) Y=2702 (dx=-5.3e-01, do=1.5e-01) Y=2947 (dx=-3.5e 01, do=6. 6e- 01)
pfsArm T = 'J pfsArm T T
= (x=2682.19, 0=1.62) 1 = (x=2683.19, 0=1.59) 1 1
— calExp 1 calExp 1 1
= (x=2681.49, 0= 186) - _| ™ (x=2682.66, 0=1.74)
7| == Residual*5 1 -FLI - e PFSATM = Residual*s 1 -FI. . b s PFSATM
- Trace 1 (x=2681.60, 0=1.19) - Trace 1 (x=2682.79, 0=1.18)
I I
* 1-|_ — (c:fzxgsms, 0=178) i 4 ml 1| |=— (cxa:szspgz.M, 0=1.84)
m— Residual*s a I | |== Residuai*s
s - frhce 1||= moce
1 I Y R I [ - I I 1 B 1, N B
_ HIN s [ ¥
1 1
T T T T T T T T T
Y=3193 (dx=-9.8e-01, do=1.9e-01) Y=3439 (dx=-1.3e+00, do=-1.5e-01) Y=3684 (dx=-7.6e-01, do=3.7e-01) Y=3930 (dx=-9.4e-01, do=-2.3e-01)
fsA fSA T fSA T fSA T
pfsArm pfsArm pfsArm pfsArm
= (x=2684.28, 0=1.47) = (x=2685.18, 0=1.52) _| = (x=2686.06, 0=1.54) 1 = (x=2686.90, 0=1.48) 1 =
calExp -1 calExp ™ calExp | calExp |
= (x=2683.29, 0=1.67) = (x=2683.84, 0=1.37) = (x=2685.30, 0=1.91) = (x=2685.95, 0=1.25)
e Residual*5 e Residual*5 == Residual*5 I = Residual*5
- Trace 1 - Trace al | - Trace
i 1 - 1
| |
1 1
Ll el = & o - o — - I — e — - I b o —
b H
1
T

2670 2680 2690 2700 2670
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2700 2670
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Y=245 (dx=1.4e-02, do=3.2e-02)

f=1691, X=1691.4

Y=491 (dx=-3.0e-02, do=5.6e-02)

T pfsArm
1 = (x=1690.18, 0=1.10)
calExp
= (x=1690.19, 0=1.13)

- w— Residual*5
= Trace

pfsArm
| ™ (x=1690.47,0=1.10)

1 calExp
= (x=1690.44, 0=1.16)

-1 m— Residual*5

Y=1228 (dx=-3.5e-02, do=-3.9e-04)

Y=1473 (dx=-3.2e-02, do=-1.1e-02)

-1 I pfsArm pfsArm
1 = (x=1691.24, 0=1.10) 1 = (x=1691.41, 0=1.10)

1 calExp — 1 calExp
= (x=169121, 0=1.10) = (x=1691.38, 0=1.09)

m—— Residual*5

m—— Residual*5

Y=2210 (dx=-4.3e-02, do=-2.9e-02)

Y=2456 (dx=-2.9e-02, do=-1.5€-02)

_ pfsArm pfsArm
| = (x=1691.77,0=1.10) | ™ (x=1691.84,0=1.10)

1 calExp 1 calExp
m—(x=1691.72, 0=1.07) m—(x=1691.81, 0=1.09)

-1 m—— Residual*5
w— Trace

m— Residual*5
= Trace

Y=3193 (dx=-4.2e-02, do=-5.4e-03)

Y=3439 (dx=-1.1e-02, do=-1.8e-04)

. T pfsArm T pfsArm
| = (x=1691.89, 0=1.10) | = (x=1691.81, 0=1.09)

| calExp | calExp
= (x=1691.84, 0=1.09) = (x=1691.79, 0=1.09)

e Residual*5
| Trace

m— Residual*5
= Trace

1680 1690 1700

1680 1690 1700

Y=736 (dx=-2.1e-02, do=6.5e-03)

T pfsArm
| ™ (x=169073, 0=1.11)

1 calExp
= (x=1690.71, 0=1.11)

m—— Residual*5
== Trace

Y=1719 (dx=4.2e-03, do=-3.2e-03)

pfsArm
| ™ (x=1691.55 0=1.10)
calExp
- = (x=1691.55, 0=1.09)
m——Residual*5
= Trace

Y=2702 (dx=-4.0e-02, do=-3.0e-02)

I pfsArm

| ™ (x=1691.90, 0=1.10)

1 calExp
m—(x=1691.86, 0=1.07)

- m——Residual*5

Y=3684 (dx=-1.1e-02, do=-2.3e-02)

pfsArm
| ™ (x=1691.66, 0=1.09)

calExp
= (x=1691.65, 0=1.07)
m— Residual*5
= Trace

1680 1690 1700

Y=982 (dx=-5.2e-02, do=-1.3e-02)
T

pfsArm
1 = (x=1691.04, 0=1.10)

1 calExp
= (x=1690.99, 0=1.08)

= Residual*5

Y=1965 (dx=-8.1e-02, do=-7.6e-03)

pfsArm
| ™ (x=1691.67,0=1.10)

calExp
= (x=1691.59, 0=1.09)
m—Residual*5

== Trace

Y=2947 (dx=-4.3e-03, do=-2.3e-03)

I pfsArm
| ™ (x=1691.91,0=1.10)
1 calExp

= (x=1691.91, 0=1.10)
- m——Residual*5

Y=3930 (dx=-3.3e-02, do=3.6e-02)

- T pfsArm
| ™ (x=1691.46, 0=1.09)

calExp
= (x=1691.43, 0=1.13)
m—Residual*5
- Trace

s

1680 1690 1700
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Y=245 (dx=-8.7e-02, do=-4.9e-02)

f=1775, X=1173.1

Y=491 (dx=-4.3e-02, do=4.4e-02)

T pfsArm
| ™ x=117178,0=117)

calExp
= (x=1171.69, 0=1.12)

-

e Residual*s
= Trace

pfsArm
| = x=1172.44,0=112)

1 calExp
= (x=1172.40, 0=1.17)

e Residual*5

Y=1228 (dx=-5.1e-02, do=-1.5€-02)

Y=1473 (dx=-5.5e-02, do=-3.5€-02)

I pfsArm
| ™ (x=117356, 0=1.13)

calExp
= (x=1173.51, 0=1.11)
= Residual*5

= Trace

T pfsArm
| = (x=117375,0=1.15)

calExp
= (x=1173.70, 0=1.11)
= Residual*5

Y=2210 (dx=-6.7e-02, do=-1.4e-02)

Y=2456 (dx=-8.3e-02, do=-3.1e-02)

e Residual*5

-1 I pfsArm I pfsArm
1 = (x=1174.02, 0=1.12) 1 = (x=1173.94, 0=1.12)

1 calExp 1 calExp
m—(x=1173.95, 0=1.10) m—(x=1173.86, 0=1.09)

e Residual*5

Y=3193 (dx=-7.1e-02, do=-6.1e-03)

Y=3439 (dx=-4.0e-02, do=-2.7e-02)

pfsArm
| = (x=1173.16,0=112)

| calExp

(x=1173.09, 0=1.11)
e Residual*5
| Trace

pfsArm
| = (x=1172.64, 0=1.13)

calExp
= (x=1172.60, 0=1.11)

- = Residual*5

1160 1170 1180

1160 1170 1180

Y=736 (dx=-5.7e-03, do=-4.9e-03)

- pfsArm
1 = (x=1172.93, 0=1.12)
1 calExp

— (x=1172.93, 0=1.12)
e Residual*5

Y=1719 (dx=-5.8e-02, do=-3.7e-02)

I fsArm
1 = (x=1173.96, 0=1.12)

T 1 calExp
= (x=1173.90, 0=1.08)

e Residual*5
= Trace

1
Y=2702 (dx=-4.0e-02, do=-1.3e-02)
T
1 —(p:iAlr{“ng,FuM
1 —(c:fl)(f73.eg,g=1.13)

e Residual*s
== Trace

Y=3684 (dx=-2.9e-02, do=1.6e-02)

pfsArm
1 = (x=1172.04, 0=1.12)

calExp
= (x=1172.01, 0=1.13)
- e Residual*s
= Trace

|
|
1
1
u
1

1160 1170 1180

Y=982 (dx=-1.1e-01, do=2.2e-02)

pfsArm
| = (x=117329,0=112)

1 calExp
= (x=1173.19, 0=1.14)

e Residual*5

Y=1965 (dx=-8.1e-02, do=-2.9e-02)

I pfsArm
1 = (x=1174.02, 0=1.12)
1 calExp
1 = (x=1173.94, 0=1.09)
e Residual*5
= Trace
. - R ————————

Y=2947 (dx=-8.4e-02, do=2.3e-03)

pfsArm
| = (x=1173.50,0=1.13)

1 calExp
= (x=1173.42, 0=1.13)

e Residual*5

Y=3930 (dx=-3.7e-02, do=5.1e-02)

T pfsArm
| = (x=117122,0=112)

calExp
- = (x=1171.18, 0=1.17)
m—Residual*s

1160 1170 1180
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Y=245 (dx=-6.3e-02, do=4.3e-02)

f=1786, X=1105.0

Y=491 (dx=-2.9e-03, do=8.9e-03)

T pfsArm
. | ™ x=1103.79, 0=1.20)

1 calExp
= (x=1103.73, 0=1.24)

e Residual*s
= Trace

pfsArm
| ™ (x=1104.50, 0=1.14)

1 calExp
= (x=1104.50, 0=1.15)

e Residual*5

Y=1228 (dx=-6.1e-02, do=-2.8e-02)

Y=1473 (dx=-2.0e-02, do=-5.3e-02)

e Residual*5

I pfsArm I fsArm
| = (x=1105.67,0=117) -1 | = (x=1105.84,0=124)
1 calExp 1 calExp

= (x=1105.61, 0=1.14) = (x=1105.82, 0=1.19)

e Residual*5
= Trace

Y=2210 (dx=-1.0e-01, do=-7.3e-03)

Y=2456 (dx=-7.5e-02, do=-4.9e-02)

I pfsArm I pfsArm
1 = (x=1106.15, 0=1.13) 1 = (x=1106.05, 0=1.13)
1 calExp i 1 calExp

= (x=1106.05, 0=1.13) = (x=1105.98, 0=1.08)

e Residual*5

Y=3439 (dx=-9.9e-03, do=-6.3e-02)

pfsArm
1 = (x=1105.16, 0=1.13)

calExp

(x=1105.10, 0=1.10)
e Residual*5
| Trace

pfsArm
| ™ (x=1104.57, 0=1.16)

| calExp

= (x=1104.56, 0=1.10)
= Residual*5
- Trace

1090 1100 1110 1120

1090 1100 1110 1120

Y=736 (dx=-6.6e-03, do=-5.7e-03)

pfsArm
1 = (x=1105.04, 0=1.13)
1 calExp

= (x=1105.03, 0=1.12)
e Residual*5

Y=1719 (dx=-1.0e-01, do=-2.9e-02)

-1 I pfsArm
1 = (x=1106.11, 0=1.13)

1 calExp
= (x=1106.00, 0=1.10)

e Residual*5
= Trace

Y=2702 (dx=-5.3e-02, do=-1.2e-02)

I pfsArm
| =™ (x=110576,0=122)
1 calExp

— m— (x=1105.71, 0=1.21)

e Residual*s
== Trace

Y=3684 (dx=-8.5e-03, do=-6.4e-02)

Y=982 (dx=-6.0e-02, do=1.4e-03)

pfsArm
| ™ (x=1105.40, 0=1.14)

1 calExp
= (x=1105.34, 0=1.14)

e Residual*5

Y=1965 (dx=-8.6e-02, do=-2.5e-02)

I pfsArm
1 = (x=1106.17, 0=1.13)

calExp
= (x=1106.08, 0=1.11)
e Residual*5

== Trace

Y=2947 (dx=-5.0e-02, do=-4.6e-02)

T pfsArm
| ™ (x=1105.53,0=1.16)
] 1 calExp

m——(x=1105.48, 0=1.11)
e Residual*5

Y=3930 (dx=-1.8e-02, do=-1.0e-03)

T pfsArm
| ™ (x=1103.81, 0=122)

calExp
= (x=1103.80, 0=1.16)
= Residual*5

1090 1100 1110

T pfsArm
| ™ (x=1102.88, 0=125)

calExp
= (x=1102.86, 0=1.25)
e Residual*5
== Trace

1090 1100 1110
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Y=245 (dx=-1.1e-02, do=-1.2e-01)

f=1787, X=1098.8

Y=491 (dx=-2.9e-02, do=5.9e-02)

w— Residual*s
== Trace

pfsArm T pfsArm T
- = (x=1097.65, 0=1.17) 1 = (x=1098.35, 0=1.16) 1
calExp calExp 1

_ = 1007, 64, 0=1.05)

_(x= 1093 32,0=122)
— Residual*s
w | Trace

1

pfsArm T
= (x=1098.81, 0=1.14) 1
calExp 1
- (x 1098 84, 0=1.17)
m— Residual*s
== Trace

{ r——

Y=1473 (dx=-1.7e-02, do=-6.0e-02)

T T
= = , =-3.1e-
pfsArm I
= (x=1099.53, 0=1.16) 1
calExp 1
= (x=1099.53, 0=1.13)
| === Residual*5
= Trace
- -

pfsArm I
_| = (x=1099.74, 0=1.16) 1
calExp 1
= (x=1099.72, 0=1.10)
e Residual*5
= Trace

1= (x 1099.88, 0=1.14)

Y=2210 (dx=-1.5-02, do=-4.5€-02)

Y=2456 (dx=-8.8e-02, do=-4.9e-02)

pfsArm

= (x=1099.83, 0=1.14)
calExp

= (x=1099.74, 0=1.09)

= Residual*5

= Trace

pfsArm T
= (x=1099.92, 0=1.14) 1
calExp
- ™ (x=1099.91, 0=1.09)
= Residual*5
- Trace
. o o e -
T

pfsArm
= (x=1098.93, 0=1.14) 1

calExp
| ™ (x=1098.87, 0=1.11)
= Residual*5
= Trace

pfsArm
= (x=1098.41, 0=1.16) 1

calExp

(x=1098.32, 0=1.11)
e Residual*5
| Trace

7 pfsArm I
= (x=1099.64, 0=1.16)
calExp
m—(x=1099.62, 0=1.13)
7| == Residuars
= Trace

Y=736 (dx=3.1e-02, do=3.0e-02)

Y=1719 (dx=-8.0e-02, do=-1.9e-02)

pfsArm T

— (x=1099,80,0=1412)
= Residual*5
== Trace

i

1
Y=2702 (dx=-2.4e-02, do=-2.8e-02)

Y=3684 (dx—-3 Te- 03 do=-9.6e- 02)

1090 1100 1110

1090 1100 1110

pfsArm T
= (x=1097.67, 0=1.16)

calExp

(x=1097.67, 0=1.06)
e Residual*5
= Trace

=™ (x=1099.36, 0=1.11)

1090 1100 1110

Y=982 (dx=-5.9e-02, do=4.3e-02)

pfsArm T
= (x=1099.26, 0=1.17) 1

calExp
- (x= 109920 0=121)
m— Residual*s

== Trace

pfsArm T
= (x=1099.94, 0=1.14) 1

calExp

= (x=1099.84, 0=1.13)
= Residual*5

== Trace

pfsArm I
= (x=1099.37, 0=1.16) 1
calEx|

e Residual*5
= Trace

pfsArm
= (x=1096.75, 0=1.16) 1

calExp
- (x=1096.71, 0=1.12)
e Residual*5
= Trace

1080 1090 1100 1110
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Y=245 (dx=3.1e-02, do=-2.9e-02)

f=1876, X=548.2

Y=491 (dx=5.5e-02, do=5.4e-03)

T pfsArm
1 = (x=546.53, 0=1.15)
calExp
= (x=546.56, 0=1.13)

mm Residual*5
== Trace

T pfsArm
1 = (x=547.71, 0=1.17)
1 calExp

= (x=547.76, 0=1.17)

e Residual*5
== Trace

m——Residual*5
= Trace

1
Y=1228 (dx=1.0e-02, do=-2.9e-02) Y=1473 (dx=-3.5e-02, do=-3.5€-02)
I fSArm I pfsArm
1 = (x=549.78, 0=1.17) 1 = (x=550.18, 0=1.14)
7 I — (CELESXEQJQ, 0=1.14) I [r— 1C:I=E5X§D4l4, 0=1.10)

m—— Residual*5
= Trace

- m—Residual*5

1
Y=2210 (dx=-5.5e-02, do=-1.0e-02) Y=2456 (dx=-5.2e-02, do=-1.8e-02)
I pfsArm _ I pfsArm
1 = (x=550.22, 0=1.15) | =™ (x=549.85,0=1.18)
I — (C;‘:ESX_’?O 16, 0=1.14) I [r— 1C>?I=E;(§9.BO, 0=1.16)

m— Residual*5
w— Trace

Y=3193 (dx=-1.8e-02, do=-2.8e-02)

Y=3439 (dx=-1.7e-02, do=-2.7e-03)

pfsArm
| = (x=547.88,0=1.18)

-1 | calExp
= (x=547.86, 0=1.15)

mm—Residual*5

pfsArm
— (x=546.77, 0=1.17)
| calExp

= (x=546.76, 0=1.17)
mm Residual*5
- Trace

540 550 560

530 540 550 560

Y=736 (dx=6.1e-02, do=-1.2e-02)
T

pfsArm
1 = (x=548.62, 0=1.16)

- 1 calExp
= (x=548.68, 0=1.15)

w— Residual*5
= Trace

1
Y=1719 (dx=-3.0e-02, do=-1.6e-02)
4 T
1 = ?;s;sr%.m, 0=1.14)
1 — calExp
(x=550.31, 0=1.13)

m—— Residual*5

Y=2702 (dx=-4.5e-02, do=-3.0e-02)

T pfsArm
- 1 = (x=549.44, 0=1.15)
1 calExp

m—(x=549.40, 0=1.12)
m—— Residual*5

it
Y=3684 (dx=2.1e-02, do=5.3e-03)

pfsArm
1 = (x=545.39, 0=1.16)
| calExp
= (x=545.41, 0=1.16)

m—— Residual*5
-1 w— Trace

530 540 550 560

Y=982 (dx=1.8e-02, do=-3.3e-03)
T

pfsArm
1 = (x=549.34, 0=1.14)

1 calExp
= (x=549.36, 0=1.14)

m— Residual*5

Y=1965 (dx=-6.5e-02, do=-2.5e-02)

T pfsArm
1 = (x=550.35, 0=1.15)
1 calExp

= (x=550.29, 0=1.13)

m—— Residual*5

Y=2947 (dx=-2.4e-02, do=-1.6e-02)
T

pfsArm
- 1 = (x=548.76, 0=1.17)
1 calExp

(x=548.73, 0=1.16)
m—— Residual*5

Y=3930 (dx=-1.1e-02, do=8.1e-02)

. pfsArm
1 = (x=543.55, 0=1.16)
| calExp
= (x=543.54, 0=1.24)
= m— Residual*5

530 540 550
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Y=245 (dx=-1.9e+00, do=nan)

f=1897, X=417.9

Y=491 (dx=-5.3e-01, do=-2.7e-01)

Y=736 (dx=-4.2e-01, do=-2.2e-01)

pfsArm
= (x=414.78, 0=2.16)

calExp
= (x=412.93, o=nan)
m— Residual*5

[ == Trace

pfsArm
= (x=415.74, 0=1.97)

calExp
= (x=41521, 0=1.69)
m— Residual*5

== Trace

9

9

T pfsArm
1 = (x=416.73, 0=1.96)
1 calExp
= (x=416.31, 0=1.73)
I s Residual*s
l = Trace
1
1 -
- -

Y=1228 (dx=-6.4e-02, do=-1.3e-01)

Y=1473 (dx=-1.6e-01, do=-3.2e-01)

Y=1719 (dx=3.9e-02, do=-2.5e-01)

pfsArm
= (x=417.07, 0=1.71)
calExp
= (x=417.00, 0=1.59)
e Residual*5
= Trace

pfsArm
= (x=418.90, 0=2.00)

e Residual*5

|
1 calExp
= (x=418.74, 0=1.69)
|
1 - Trace

-2.0e-01, do=-3.4e-01)

pfsArm
= (x=418.78, 0=1.98)

calExp
m—(x=418.58, 0=1.64)
e Residual*5

= Trace

pfsArm
= (x=416.95, 0=1.64)

calExp
= (x=416.97, 0=1.57)

= Residual*5

1
1
|
1 - Trace
1
1
1

Y=3193 (dx=-3.8e-03, do=-5.8e-02)

Y=3439 (dx=-5.4e-02, do=-7.8e-02)

pfsArm
= (x=415.37, 0=1.87)
calExp
= (x=415.37, 0=1.81)
e Residual*s
- Trace

T pfsArm
1 = (x=414.49, 0=1.95)
| calExp

= (x=414.43, 0=1.87)
I = Residual*5
|
1
1

= Trace

£l

T
1

pfsArm
= (x=418.61, 0=1.95)
calExp
= (x=418.65, 0=1.70)
= Residual*5
= Trace

(dx=-6.5€-02, do=-1.7e-01)

T
1

pfsArm
= (x=417.50, 0=1.94)

calExp
= (x=417.44, 0=176)

= Residual*5
| Trace

(dx=-2.3e-01, do=-2.0e-01)

410

420 430

400

410

420 430

pfsArm
= (x=412.15, 0=1.78)

calExp
= (x=411.92, 0=1.57)
= Residual*5
w— | Trace

420 430

Y=982 (dx=-5.6e-02, do=-1.9e-01)

1
1

pfsArm
— (x=417.79, 0=2.02)

calExp
= (x=417.73, 0=1.83)
— Residual*s

== Trace

Y=1965

(dx=1.3e-02, do=-2.6e-01)

pfsArm
= (x=418.51, 0=1.93)
calExp
= (x=418.52, 0=1.67)
= Residual*5
= Trace

Y=2947 (dx=8.2e-03, do=-3.0e-02)

?

pfsArm
= (x=416.25, 0=1.82)

calExp
= (x=416.26, 0=1.79)

e Residual*5
= Trace

Y=3930

(dx=-3.9e-01, do=-2.7e-01)

[

pfsArm
= (x=410.20, 0=1.81)
calExp
= (x=409.81, 0=1.54)
= Residual*5
- Trace

400

410

420
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Y=245 (dx=5.0e-02, do=6.8e-02)

f=1898, X=411.7

Y=491 (dx=1.0e-01, do=2.0e-02)

= (x=409.81, 0=1.20)
- — Residual*s
== Trace

pfsArm pfsArm
1 = (x=409.76, 0=1.13) 1 = (x=41121, 0=1.13)
1 calExp 1 calExp

= (x=411.31, 0=1.15)
m— Residual*s
w | Trace

Y=1228 (dx=2.2e-02, do=-7.7e-03)

Y=1473 (dx=3.9e-03, do=-2.5€-02)

mm Residual*5
= Trace

T T pfsArm T pfsArm
1 = (x=413.60, 0=1.13) 1 = (x=414.01, 0=1.13)

1 calExp T 1 calExp
= (x=413.62, 0=1.12) = (x=414.02, 0=1.11)

m—— Residual*5
= Trace

m—Residual*5
= Trace

1 1

Y=2210 (dx=-4.3e-02, do=-3.8e-03) Y=2456 (dx=-5.3e-02, do=-1.9e-02)
T
1 = gsﬂﬁ 04, 0=1.14) ] - r;ﬁ{na.es, 0=1.13)
1 [ (C;‘:E:{)A 00, 0=1.13) 1 — 1(;5{)3.61, 0=1.11)

m— Residual*5
w— Trace

mm—Residual*5
= Trace

1

Y=3193 (dx=-7.1e-03, do=-1.2e-02) Y=3439 (dx=9.7e-03, do=1.5e-02)
T pfsArm T pfsArm
1 = (x=411.38, 0=1.15) 1 = (x=410.08, 0=1.15)
I = ff‘fffl 37, 0=1.13) - 1 — lch:E:{)O.DQ, 0=1.16)

m Residual*5
w— Trace

TT

400 410 420

400 410 420

Y=736 (dx=7.6e-02, do=4.2e-03)

pfsArm
1 - (x=412.27, 0=1.13)
1 calExp

= (x=412.34, 0=1.14)
s Residual*5
== Trace

Y=1719 (dx=-3.5e-02, do=-2.7e-02)

I pfsArm
1 = (x=414.20, 0=1.14)
1 calExp

= (x=414.16, 0=1.11)

m—— Residual*5
= Trace

Y=2702 (dx=-3.2e-02, do=-1.2e-02)

pfsArm
1 = (x=413.14, 0=1.14)
1 calExp

= (x=413.11, 0=1.13)
m—— Residual*5
= Trace

1

Y=3684 (dx=2.8e-02, do=2.7e-02)
T
1 = ?xfi:?a.m, 0=1.15)

calExp
= (x=408.43, 0=1.17)
m—— Residual*5
= Trace

400 410 420

Y=982 (dx=4.0e-02, do=-3.1e-02)
T

pfsArm
1 = (x=413.06, 0=1.13)

1 calExp
= (x=413.10, 0=1.10)

m— Residual*5
== Trace

1
Y=1965 (dx=-3.4e-02, do=-2.8e-02)
T
1 = ?}IS:A;EI.ZI, 0=1.14)
- | = (C:LEIfa.u,u:Lm

m—— Residual*5
= Trace

1
Y=2947 (dx=-1.6e-02, do=-3.3e-03)
T
1 = ?Iiéar{“zas, 0=1.14)
_ I [ ((:LEIIPZ.BG, 0=1.14)

m—— Residual*5
== Trace

1
Y=3930 (dx=5.0e-02, do=9.6e-02)
. T
1 = Fxfiz?s.zg, 0=1.15)
| = (cxaljgs.u, 0=1.24)

m—— Residual*5
= Trace

390 400 410 420
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f=1899, X=405.5

Y=245 (dx=5.6e-01, do=-1.2e-01) Y=491 (dx=6.5e-01, do=-5.8e-01) Y=736 (dx=4.1e-01, do=-4.6e-01) Y=982 (dx=1.4e-01, do=-1.1e-01)
- pfsArm pfsArm - pfsArm pfsArm
= (x=403.65, 0=2.00) = (x=405.88, 0=2.13) = (x=406.76, 0=2.02) = (x=406.95, 0=1.81)
calExp J LI- calExp calExp calExp
_(x= 404 21,0=1.88) = (x=406.53, 0=1.55) = (x=407.17, 0=1.57) - (x= 407 09, 0=1.70)
— Residual*s

e Residual*s 7| == Residual*5
= Trace == Trace

| == Residual*s

= Trace == Trace

o

-

Y=1228 (dx=8.6e-01, do=-5.7e-01) Y=1473 (dx=2.9e-01, do=-1.1e-01) Y=1719 (dx=1.8e-02, do=-1.6e-01) Y=1965 (dx=1.1e-02, do=-9.9e-02)

- pfsArm
= (x=407.77, 0=1.99)

pfsArm LT

= (x=407.95, 0=1.80)
calExj

_(x= 408 23, 0=1.69)

e Residual*5

= Trace

pfsArm I
= (x=409.03, 0=1.90) 1

pfsArm
= (x=408.95, 0=1.96)

1
calExp

= (x=408.96, 0=1.80)

= Residual*5

== Trace

L

calExp

= (x=408.62, 0=1.42)
=] === Residual*5

= Trace

calExp 1
= (x=409.05, 0=1.80)

= Residual*5
= Trace

j;fs%

It

AT

Y=2210 (dx=3.6e-01, do=-2.7e-01) Y=2456 (dx=1.5e-01, do=-4.3€-02) Y=2702 (dx=1.3e-01, do=-1.9e-01) Y=2947 (dx=-4.4e-01, do=3.2e-01)
T T T T
e ?:ﬂgez,aﬂjs) 1 — r;iﬁg.gg,aﬂ 89) 1 — F:i%r;.sg, 0=1.91) 1 J -4 F:iélrfy)ﬁ'l.23,a=1.62) 1
— calExp 1 — calExp 1  — calExp 1 — calexp 1

(x=408.28, 0=1.46) a (x=408.14, 0=1.84) (x=408.02, 0=1.72) (x=406.79, 0=1.94)
o] e Residual*5 w— Residual*5 I e Residual*5 I e Residual*5 I
- Trace - | == Tace 1 - Trace 1 - Trace ]
I % F % [ b
= 1
i = _T_ i [ - 4 fr.l':l:____ - . - T __"_
T I 1 T T T 1 T T I T T 1 1 I T 1
Y=3193 (dx=-1.2e-01, do=1.3e-01) Y=3439 (dx=3.3e-01, do=-1.0e-01) Y=3684 (dx=-1.5e-01, do=1.4e-01) Y=3930 (dx=1.4e-01, do=1.5e-01)

pfsArm pfsArm pfsArm T _ pfs/ -
- = (x=406.19, 0=1.63) = (x=403.93, 0=1.77) I = (x=403.29, 0=1.60) I = (x=400.98, 0=1.68)
calExp calEx| | calExp |
= (x=406.07, 0=1.76) - (x= 404 26, 0=1.67) == (x=403.14, 0=174) = (x=401.12, 0=1.83) u
e Residual*5 e Residual*5 I e Residual*5 I e Residual*5
- Trace - Trace ] == Trace ] - Trace

=il

i
1
I % tH tl\
09
e == =, SRR
:
1
i
1

I I | | _.I'I...

390 400 410 420 390 400 410 390 400 410 390 400 410
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Y=245 (dx=-5.5e-02, do=1.2e-01)

f=1929, X=219.0

Y=491 (dx=1.3e-01, do=4.2e-02)

pfsArm pfsArm
1 = (x=216.76, 0=1.15) 1 = (x=218.50, 0=1.15)
1 calExp calExp
- (x=216.71, 0=127) = (x=218.64, 0=1.19)
m—_Residual*5 s Residual*s
== Trace w | Trace

-~

- 1 calExp

'Y=1228 (dx=5.7e-02, do=1.8e-02)

Y=1473 (dx=3.5e-02, do=-9.1e-03)

I pfsArm I pfsArm
1 = (x=221.51, 0=1.15) 1 —(x=221.92, 0=1.14)
calExp 1 calExp

= (x=221.56, 0=1.17)
e Residual*5
== Trace

= (x=221.96, 0=1.13)
= Residual*5
= Trace

T I pfsArm
1 = (x=222.21, 0=1.16)

1 calExp
- (x=222.22, 0=1.15)

1
Y=2210 (dx=2.6e-02, do=-3.2e-02) Y=2456 (dx=3.2e-04, do=-1.8e-02)
I pfsArm I pfsArm
| = (x=221.950=1.14) 1 = (x=221.56, 0=1.16)
| — calExp 1 — calExp
(x=221.98, 0=1.11) (x=221.56, 0=1.14)

e Residual*5
= Trace

= Residual*5
w— Trace

Y=3193 (dx=3.2e-02, do=7.4e-03) Y=3439 (dx=6.1e-02, do=4.7e-04)
T pfsArm T pfsArm
1 = (x=218.72, 0=1.16) 1 = (x=217.15, 0=1.18)
| — (cf‘:E;lpBJS, 0=1.17) | — TEI:E;{)UL 0=1.18)

= Residual*5
== Trace

= Residual*5
w— Trace

1
Y=3684 (dx=3.2e-02, do=4.9e-02)
. T
1 = ?xfiAzr{Ws.u,u:ms)
| - (cxalezxfs.u, 0=1.23)

210 220 230

210 220 230

Y=736 (dx=1.6e-01, do=3.2e-02)
T

pfsArm
| = (x=21978,0=1.14)

= (x=219.94, 0=1.18)

e Residual*s
= Trace

Y=1719 (dx=1.2e-02, do=-1.1e-02)

= Residual*5
= Trace

1
Y=2702 (dx=2.1e-02, do=-2.3e-02)
T
| F:i/;rzmtJ.se, 0=1.15)
1 calExp

= (x=220.88, 0=1.13)
= Residual*5
| Trace

me Residual*5
w— Trace

200 210 220 230

Y=982 (dx=4.9e-02, do=1.6e-02)

T pfsArm
1 = (x=220.77, 0=1.15)
1 calExp

= (x=220.82, 0=1.16)
m— Residual*s
== Trace

Y=1965 (dx=-1.9e-03, do=-3.1e-02)

I pfsArm
1 = (x=222.22, 0=1.16)
1 calExp

- (x=222.22,0=1.13)

e Residual*5
= Trace

1
Y=2947 (dx=2.8e-02, do=-1.6e-02)
T
| I E):iAerg.gz, 0=1.15)
1 calExp
(x=219.95, 0=1.14)

e Residual*5
== Trace

1
Y=3930 (dx=7.0e-03, do=8.8e-02)
T
1 = E):S:AZrTZ.Sl,U=Ll7D
N 1 — (c:I:E;{’Z.SZ,a:I.Zﬁi

e Residual*5
= Trace

200 210 220



